Course:	ACCT - 5110 010 - Fundamentals of Accounting Research	Department:	BUSI
Responsible Faculty:	Pamela Thompson	Responses / Expected:	6 / 18 (33.33%)

					Pamela	Thomp	SOI	n			St	ırvey Coı	npariso	ns
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	105	4.5	4.7	62
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	105	4.6	4.7	65
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	103	4.6	4.7	42
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	105	4.6	4.7	27
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	105	4.5	4.7	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	105	4.5	4.6	58
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	105	4.7	4.8	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	105	4.6	4.7	65
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	105	4.6	4.7	65
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	105	4.6	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	104	4.6	4.7	69
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	105	4.6	4.8	58
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	105	4.5	4.7	58
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	105	4.5	4.7	58

					AC	CT - 51	10 -	010				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Respon	ses (%)			C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	86	4.4	4.5	29
Q16	The course topics are organized in a coherent fashion.	0	0	2 40%	0	3 60%	5	4.2	4.7	5	153	4.5	4.7	48

Course:	ACCT - 5130 011 - Accounting for Management	Department:	BUSI
Responsible Faculty:	Cathy Scott	Responses / Expected:	14 / 30 (46.67%)

					С	athy Sc	ott				S	urvey Co	mpariso	ns
Cou	se Evaluation Questions			Respor	ıses (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	7 50%	7 50%	14	4.5	4.5	4.5	105	4.5	4.7	27
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 50%	7 50%	14	4.5	4.5	4.5	105	4.6	4.7	31
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4	4.6	5	103	4.6	4.7	27
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 35.7%	9 64.3%	14	4.6	4.7	5	105	4.6	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	6 42.9%	8 57.1%	14	4.6	4.6	5	105	4.5	4.7	42
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 14.3%	6 42.9%	6 42.9%	14	4.3	4.3	4	105	4.5	4.6	12
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 35.7%	9 64.3%	14	4.6	4.7	5	105	4.7	4.8	27
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 50%	7 50%	14	4.5	4.5	4.5	105	4.6	4.7	27
Q9	My instructor encourages me to do my best work.	0	0	0	5 35.7%	9 64.3%	14	4.6	4.7	5	105	4.6	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4	4.6	5	105	4.6	4.7	27
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	7 50%	7 50%	14	4.5	4.5	4.5	104	4.6	4.7	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 42.9%	8 57.1%	14	4.6	4.6	5	105	4.6	4.8	35
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	7 50%	7 50%	14	4.5	4.5	4.5	105	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4	4.5	4.5	105	4.5	4.7	35

						ACCT - 51	30 -	011				Survey Cor	nparisons	
Lab	s and Online Learning Questions			Res	ponses (%	5)		Co	urse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	6 60%	4 40%	10	4.4	4.3	4	86	4.4	4.5	45
Q16	The course topics are organized in a coherent fashion.	0	0	0	6 46.2%	7 53.8%	13	4.5	4.6	5	153	4.5	4.7	41

Course:	ACCT - 5300 010 - Federal Taxation of Income	Department:	BUSI
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	6 / 15 (40%)

				5	Stephan	ie Monç	giel	lo			St	urvey Co	npariso	ns
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	105	4.5	4.7	62
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	105	4.6	4.7	4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	103	4.6	4.7	12
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	105	4.6	4.7	27
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	105	4.5	4.7	4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	105	4.5	4.6	38
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	105	4.7	4.8	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	105	4.6	4.7	50
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	105	4.6	4.7	27
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	105	4.6	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	104	4.6	4.7	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	105	4.6	4.8	4
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	105	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	105	4.5	4.7	12

					А	CCT - 5	300	- 010				Survey Cor	nparisons	
Lab	s and Online Learning Questions		R	espo	nses (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	86	4.4	4.5	29
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	153	4.5	4.7	61

Course:	AEAH - 1750 001 - Visual Arts Integration	Department:	SEHSTE
Responsible Faculty:	Ruth Guevara	Responses / Expected:	6 / 31 (19.35%)

					Ruth G	uevara					;	Survey Co	mparis	ons
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidua	l		SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	10	3.9	4.7	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	10	4.9	4.9	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	10	4.9	4.9	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.8	4.9	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.8	4.9	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	10	4.5	4.8	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.7	4.8	25
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	10	4.5	4.7	25
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	10	4.8	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	10	4.2	4.7	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.7	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	10	4.7	4.8	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	10	4.6	4.8	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.7	4.8	25

					AEA	H - 1750	- 00	1				Survey Cor	nparisons	:
Lab	s and Online Learning Questions		Res	pon	ses (%)			Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	86	4.4	4.5	50
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	153	4.5	4.7	16

Course:	ART - 1300 030 - Art Appreciation for Non-Art Majors	Department:	LangCom
Responsible Faculty:	Rafael Molina	Responses / Expected:	6 / 29 (20.69%)

					Rat	fael Mo	lina	a				Survey Co	ompariso	ons
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	7	4.1	4.3	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	7	4.0	4.0	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	7	4.1	4.1	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	7	4.0	4.0	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	7	3.7	3.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	7	3.9	4.1	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	7	4.4	4.4	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	7	4.0	4.3	75
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	7	4.0	4.0	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	7	3.7	4.0	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	7	4.1	4.1	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	7	4.1	4.1	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	7	4.0	4.0	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	7	4.0	4.1	75

						ART - 1	300	- 030				Survey Con	nparisons	
Lab	s and Online Learning Questions		Re	spoi	nses (%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	86	4.4	4.5	38
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	153	4.5	4.7	27

Course:	CJUS - 5100 030 - Information Warfare, Security and Risk Analysis	Department:	Criminal J
Responsible Faculty:	Richard Holden	Responses / Expected:	4 / 16 (25%)

						Richar	d H	olden				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	por	ıses ((%)		Indi	vidual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.1	4.4	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.5	4.7	33
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.5	4.6	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	11	4.6	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.2	4.6	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.3	4.6	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	11	4.5	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.1	4.6	50
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	11	4.5	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	3.9	4.6	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	11	4.3	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.4	4.5	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.3	4.6	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	11	4.1	4.6	50

					CJUS -	5100	- 030				Survey Con	nparisons	
Labs and Online Learning Questions		Resp	ons	es (%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.4	4.5	89
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	153	4.5	4.7	61

Course:	CJUS - 5250 030 - Administrative Law and Justice	Department:	Criminal J
Responsible Faculty:	John Coleman	Responses / Expected:	3 / 15 (20%)

						John	Col	eman				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	lesp	on	ses	s (%)		Indi	ividual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.1	4.4	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.5	4.7	83
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.5	4.6	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.6	4.8	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.2	4.6	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.3	4.6	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.5	4.7	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.1	4.6	83
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.5	4.7	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	11	3.9	4.6	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.3	4.7	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	10	4.4	4.5	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.3	4.6	83
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	11	4.1	4.6	83

						CJUS -	525	030 - 030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	86	4.4	4.5	89
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	153	4.5	4.7	91

Course:	CJUS - 5800 030 - Topics in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	4 / 12 (33.33%)

					Nah	id Sid	diq	ue				Survey Co	ompariso	ons
Cou	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			Cri	minal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0	1 25%	2 50%	0	4	3.0	3.5	3.5	11	4.1	4.4	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	11	4.5	4.7	33
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	11	4.5	4.6	17
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	11	4.6	4.8	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	1 25%	1 25%	1 25%	4	3.3	3.5	3.5	11	4.2	4.6	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	1 25%	1 25%	1 25%	4	3.5	3.5	3.5	11	4.3	4.6	17
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	11	4.5	4.7	17
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	1 25%	0	1 25%	1 25%	4	3.0	3.0	3	11	4.1	4.6	17
Q9	My instructor encourages me to do my best work.	0	1 25%	0	2 50%	1 25%	4	3.8	4.0	4	11	4.5	4.7	17
Q10	My instructor provides timely feedback to guide my progress.	1 25%	2 50%	0	0	1 25%	4	2.5	2.0	2	11	3.9	4.6	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	1 25%	1 25%	1 25%	4	3.3	3.5	3.5	11	4.3	4.7	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	10	4.4	4.5	17
Q13	My instructor encourages me to develop new viewpoints.	0	1 25%	1 25%	1 25%	1 25%	4	3.5	3.5	3.5	11	4.3	4.6	17
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	1 25%	0	1 25%	1 25%	4	3.0	3.0	3	11	4.1	4.6	17

					CJU	S - 5800	- 03	0				Survey Con	nparisons	;
Lab	s and Online Learning Questions		Res	pon	ses (%)			Co	ourse			Al	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	86	4.4	4.5	29
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	153	4.5	4.7	16

Course:	ENGL - 3921 030 - African-American Literature	Department:	LangCom
Responsible Faculty:	Darius Frasure	Responses / Expected:	1 / 23 (4.35%)

						Survey Comparisons								
Cou	se Evaluation Questions		Resp	onses	(%)			Indi	ividual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	7	4.1	4.3	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	7	4.0	4.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 100%	0	0	1	3.0	3.0	3	7	4.1	4.1	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 100%	0	0	1	3.0	3.0	3	7	4.0	4.0	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 100%	0	0	0	1	2.0	2.0	2	7	3.7	3.8	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 100%	0	0	0	0	1	1.0	1.0	1	7	3.9	4.1	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	4.0	4	7	4.4	4.4	25
Q8	My instructor is available to me on matters pertaining to the course.	1 100%	0	0	0	0	1	1.0	1.0	1	7	4.0	4.3	25
Q9	My instructor encourages me to do my best work.	0	0	1 100%	0	0	1	3.0	3.0	3	7	4.0	4.0	25
Q10	My instructor provides timely feedback to guide my progress.	1 100%	0	0	0	0	1	1.0	1.0	1	7	3.7	4.0	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0	3.0	3	7	4.1	4.1	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0	3.0	3	7	4.1	4.1	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0	3.0	3	7	4.0	4.0	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 100%	0	0	0	1	2.0	2.0	2	7	4.0	4.1	25

Course:	HSML - 3700 001 - Case Management in Human Services	Department:	SEHSD
Responsible Faculty:	Michael Becerra	Responses / Expected:	9 / 18 (50%)

					Mic	hael Be	cer	ra			:	Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual			SEI	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	27	4.1	4.7	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0	5.0	5	27	4.4	4.8	83
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	27	4.4	4.8	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	26	4.3	4.8	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	27	4.3	4.8	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	27	4.2	4.7	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	5.0	5	27	4.3	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	27	4.3	4.8	83
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	27	4.3	4.8	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	27	4.1	4.6	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0	5.0	5	27	4.4	4.8	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	9 100%	9	5.0	5.0	5	27	4.3	4.8	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	27	4.4	4.8	83
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0	5.0	5	27	4.3	4.9	83

					H	ISML - 37		Survey Comparisons						
Lab	s and Online Learning Questions	Responses (%) Course		Responses (%)					I					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	86	4.4	4.5	63
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	153	4.5	4.7	68

Course:	HSML - 4120 040 - Theoretical Approaches to Addiction Treatment	Department:	SEHSD
Responsible Faculty:	Shelia Lumar	Responses / Expected:	12 / 30 (40%)

						Survey Comparisons								
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			SE	HSD	
		SD D N A SA N							Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 16.7%	1 8.3%	0	2 16.7%	7 58.3%	12	3.9	4.6	5	27	4.1	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	2 16.7%	1 8.3%	8 66.7%	12	4.3	4.8	5	27	4.4	4.8	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 16.7%	0	0	2 16.7%	8 66.7%	12	4.2	4.8	5	27	4.4	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	2 16.7%	1 8.3%	1 8.3%	7 58.3%	12	3.9	4.6	5	26	4.3	4.8	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	1 8.3%	2 16.7%	0	8 66.7%	12	4.1	4.8	5	27	4.3	4.8	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 16.7%	1 8.3%	0	2 16.7%	7 58.3%	12	3.9	4.6	5	27	4.2	4.7	50
Q7	My instructor establishes a climate of respect for students.	2 16.7%	1 8.3%	0	1 8.3%	8 66.7%	12	4.0	4.8	5	27	4.3	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	1 8.3%	2 16.7%	2 16.7%	7 58.3%	12	4.3	4.6	5	27	4.3	4.8	17
Q9	My instructor encourages me to do my best work.	0	1 8.3%	2 16.7%	1 8.3%	8 66.7%	12	4.3	4.8	5	27	4.3	4.8	33
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9	4.3	4	27	4.1	4.6	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 8.3%	1 8.3%	1 8.3%	1 8.3%	8 66.7%	12	4.2	4.8	5	27	4.4	4.8	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	1 8.3%	2 16.7%	0	8 66.7%	12	4.1	4.8	5	27	4.3	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	1 8.3%	2 16.7%	1 8.3%	8 66.7%	12	4.3	4.8	5	27	4.4	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	2 16.7%	1 8.3%	0	1 8.3%	8 66.7%	12	4.0	4.8	5	27	4.3	4.9	33

				HSML		Survey Comparisons										
Labs and Online Learning Questions		Responses (%) Course								Al	All					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	2 50%	0	0	1 25%	1 25%	4	2.8	2.5	2.5	86	4.4	4.5	13			
Q16 The course topics are organized in a coherent fashion.	1 8.3%	1 8.3%	3 25%	1 8.3%	6 50%	12	3.8	4.5	4.5	153	4.5	4.7	34			

Course:	HSML - 4700 040 - Program Planning and Evaluation	Department:	SEHSD
Responsible Faculty:	Joy Patton	Responses / Expected:	6 / 28 (21.43%)

						Survey Comparisons								
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			SE	HSD	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	27	4.1	4.7	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	27	4.4	4.8	17
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	27	4.4	4.8	17
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	4.8	5	26	4.3	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	1 16.7%	0	4 66.7%	6	4.0	4.8	5	27	4.3	4.8	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	27	4.2	4.7	17
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	27	4.3	4.8	17
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	1 16.7%	0	4 66.7%	6	4.0	4.8	5	27	4.3	4.8	50
Q9	My instructor encourages me to do my best work.	1 16.7%	1 16.7%	0	0	4 66.7%	6	3.8	4.8	5	27	4.3	4.8	33
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	27	4.1	4.6	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	27	4.4	4.8	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	27	4.3	4.8	17
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	27	4.4	4.8	17
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	1 16.7%	0	4 66.7%	6	4.0	4.8	5	27	4.3	4.9	33

					HS		Survey Comparisons							
La	Labs and Online Learning Questions		Re	spo	nses (%)			Co	ourse			A	II	
		SD D N A SA N			Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	86	4.4	4.5	63
Q1	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	153	4.5	4.7	34

Course:	LAW - 7111 001 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	6 / 17 (35.29%)

					Jona	than Br	idg	es			;	Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual			Laws	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	25	4.4	4.8	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	25	4.6	4.9	38
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	25	4.4	4.9	38
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	25	4.5	4.8	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	25	4.4	4.8	38
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	63
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	25	4.4	4.8	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	25	4.6	4.9	75

						LAW - 711	11 -	001				Survey Con	nparisons	
Lab	s and Online Learning Questions			Res	ponses (%	.)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.4	4.5	89
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	153	4.5	4.7	52

Course:	LAW - 7116 001 - Health Care Law Topics	Department:	LawSchool
Responsible Faculty:	Loren Jacobson	Responses / Expected:	10 / 12 (83.33%)

				Fa	culty Resu	ılts					Survey Co	omparisons	;
Course Evaluation Questions		ı	Response	s (%)			Indi	vidual			Laws	School	
Q1. My instructor explains difficult material clearly.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	1 10%	9 90%	10	4.9	4.9	5	25	4.4	4.8	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.4	4.8	38

				Fa	aculty R	esul	ts				Survey Co	ompariso	ns
Course Evaluation Questions		Res	ponses	(%)		Indi	vidual			Laws	School	
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	0	10 100%	10	5.0	5.0	5	25	4.6	4.9	75
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fa	aculty Re	esul	ts				Survey Co	mpariso	ns
Course Evaluation Questions		Re	sponses	(%)		Indi	vidual			Laws	School	
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	1 10%	0	9 90%	10	4.8	4.9	5	25	4.4	4.9	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.4	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fac	culty Res	ults					Survey Co	mpariso	ns
Course Evaluation Questions		R	esponse	s (%)			Indi	vidual			Laws	School	
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	1 10%	9 90%	10	4.9	4.9	5	25	4.5	4.8	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.5	4.8	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fac	culty Res	ults					- Survey Co	mpariso	ns
Course Evaluation Questions		R	esponse	s (%)			Indi	vidual			Laws	School	
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	1 10%	9 90%	10	4.9	4.9	5	25	4.6	4.9	38
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Ourse Endustry Oursting				Fac	culty Res	ults					Survey Co	mpariso	ns
Course Evaluation Questions		R	esponse	s (%)			Indi	vidual			Laws	School	
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	1 10%	2 20%	7 70%	10	4.6	4.8	5	25	4.4	4.8	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.4	4.8	13

				F	aculty Re	sults	;				Survey Co	mparison	s
Course Evaluation Questions		Re	sponses	(%)			Indi	vidual			Laws	School	
Q7. My instructor establishes a climate of respect for students.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	0	10 100%	10	5.0	5.0	5	25	4.6	4.9	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fac	culty Res	ults					- Survey Co	mparisor	ıs
Course Evaluation Questions		R	esponse	s (%)			Indi	vidual			LawS	School	
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	1 10%	9 90%	10	4.9	4.9	5	25	4.6	4.9	38
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fa	culty Resu	ults					Survey Co	mparisons	;
Course Evaluation Questions		ı	Responses	(%)			Indi	vidual			Laws	School	
Q9. My instructor encourages me to do my best work.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	1 10%	9 90%	10	4.9	4.9	5	25	4.6	4.9	38
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Faci	ulty Resul	lts					- Survey Co	mparison	ıs
Course Evaluation Questions			Response	es (%)			Indi	vidual			Laws	School	
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	2 20%	8 80%	10	4.8	4.9	5	25	4.4	4.8	38
Karen Jarrell	2 28.6%	0	1 14.3%	1 14.3%	3 42.9%	7	3.4	4.0	4	25	4.4	4.8	13

O Furbridge Overhiller				Fa	aculty Re	sult	s				Survey Co	mpariso	ns
Course Evaluation Questions		Responses (%)					Indi	vidual			Laws	School	
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	0	10 100%	10	5.0	5.0	5	25	4.6	4.9	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

				Fa	culty R	esul	ts				Survey Co	mparisc	ons
Course Evaluation Questions		Res	ponses	(%	.)		Indi	vidual			Laws	School	
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	0	10 100%	10	5.0	5.0	5	25	4.6	4.9	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				F	aculty Re	sults	i			-	Survey Co	omparison	s
Course Evaluation Questions		Re	sponses	(%)			Indi	vidual			Laws	School	
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	0	10 100%	10	5.0	5.0	5	25	4.6	4.9	63
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fac	ulty Res	ults					Survey Co	ompariso	ıs
Course Evaluation Questions		R	esponse	s (%)			Indi	vidual			Laws	School	
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Loren Jacobson	0	0	0	1 10%	9 90%	10	4.9	4.9	5	25	4.6	4.9	38
Karen Jarrell	2 28.6%	0	1 14.3%	0	4 57.1%	7	3.6	4.6	5	25	4.6	4.9	13

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						LAW - 711	6 -	001				Survey Con	nparisons	
1	Labs and Online Learning Questions		ı	Response	s (%	·)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
	Q15 The section or lab is well integrated into the course structure.	0	0	3 100%	0	0	3	3.0	3.0	3	86	4.4	4.5	18
	Q16 The course topics are organized in a coherent fashion.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	153	4.5	4.7	79

Course:	LAW - 7122 001 - Trial Advocacy Topics	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	2 / 9 (22.22%)

						Eric F	ort	erfield				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	lesp	on	ses	s (%)		Indi	ividual			Laws	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.4	4.8	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.4	4.9	88
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.5	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.4	4.8	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	63
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.4	4.8	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	25	4.6	4.9	75

					ı	LAW - 7	122	- 001				Survey Cor	nparisons	
Lab	s and Online Learning Questions		Re	esponses	(%))		Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	3.0	3	86	4.4	4.5	18
Q16	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	153	4.5	4.7	16

Course:	MGMT - 3340 010 - Introduction to the Global Auto Industry	Department:	BUSI
Responsible Faculty:	Cathy Scott	Responses / Expected:	9 / 31 (29.03%)

					C	athy Sc	ott				S	urvey Coi	npariso	ns
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.5	4.7	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.6	4.7	85
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	103	4.6	4.7	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.6	4.7	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.5	4.7	85
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.5	4.6	85
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.7	4.8	81
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	4.9	5	105	4.6	4.7	58
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.6	4.7	81
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	105	4.6	4.7	65
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	104	4.6	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.6	4.8	65
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.5	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	105	4.5	4.7	77

					N	1GMT - 33	340	- 010				Survey Cor	nparisons	
Labs	and Online Learning Questions			Res	ponses (%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	86	4.4	4.5	75
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	153	4.5	4.7	68

Course:	MGMT - 4180 011 - Workplace Health and Safety	Department:	BUSI
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	4 / 22 (18.18%)

					Eli	zabeth	ı M	uniz			8	urvey Co	npariso	ns
Cou	se Evaluation Questions		Re	spon	ses (%	·)		Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.5	4.7	73
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.6	4.7	54
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	103	4.6	4.7	65
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.6	4.7	62
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.5	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.5	4.6	38
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.7	4.8	54
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.6	4.7	27
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.6	4.7	27
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.6	4.7	15
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	104	4.6	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.6	4.8	19
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	105	4.5	4.7	27
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.5	4.7	35

						MGMT	- 41	80 - 011				- Survey Cor	nparisons	
Lab	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.4	4.5	89
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	153	4.5	4.7	91

Course:	MGMT - 4300 011 - Recruitment, Selection and Placement	Department:	BUSI
Responsible Faculty:	Christopher DeClerk	Responses / Expected:	13 / 30 (43.33%)

					Christo	pher De	eCle	rk			S	urvey Coi	npariso	ns
Cou	se Evaluation Questions		R	espons	es (%)			Indiv	/idual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3	4.3	4	105	4.5	4.7	12
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3	4.3	4	105	4.6	4.7	12
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	6 50%	6 50%	12	4.5	4.5	4.5	103	4.6	4.7	19
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3	4.4	4	105	4.6	4.7	12
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	4 30.8%	3 23.1%	6 46.2%	13	4.2	4.3	4	105	4.5	4.7	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4	4.4	4	105	4.5	4.6	19
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 38.5%	8 61.5%	13	4.6	4.7	5	105	4.7	4.8	19
Q8	My instructor is available to me on matters pertaining to the course.	0	1 7.7%	0	6 46.2%	6 46.2%	13	4.3	4.4	4	105	4.6	4.7	12
Q9	My instructor encourages me to do my best work.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3	4.4	4	105	4.6	4.7	12
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5	4.7	5	105	4.6	4.7	35
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 46.2%	7 53.8%	13	4.5	4.6	5	104	4.6	4.7	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 15.4%	4 30.8%	7 53.8%	13	4.4	4.6	5	105	4.6	4.8	27
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 15.4%	5 38.5%	6 46.2%	13	4.3	4.4	4	105	4.5	4.7	12
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4	4.4	4	105	4.5	4.7	19

					P	MGMT - 4	300 -	011				Survey Cor	nparisons	
Lab	s and Online Learning Questions			Res	ponses (%	5)		Co	urse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	86	4.4	4.5	55
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 30.8%	9 69.2%	13	4.7	4.8	5	153	4.5	4.7	55

Course:	MGMT - 4345 010 - Dealership Accounting and Financial Statement Analysis	Department:	BUSI
Responsible Faculty:	David Spaulding	Responses / Expected:	4 / 10 (40%)

					ı	David S	раι	ılding			S	Survey Co	npariso	ns
Cou	se Evaluation Questions		Res	ро	nses	(%)		Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	105	4.5	4.7	27
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.6	4.7	54
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	103	4.6	4.7	65
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.6	4.7	62
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.5	4.7	65
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.5	4.6	65
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.7	4.8	54
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	105	4.6	4.7	92
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	105	4.6	4.7	58
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	105	4.6	4.7	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	104	4.6	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	105	4.6	4.8	85
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	105	4.5	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	105	4.5	4.7	92

						MGMT	- 43	45 - 010				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	86	4.4	4.5	89
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	153	4.5	4.7	91

Course:	MGMT - 4860 010 - Organizational Design and Change	Department:	BUSI
Responsible Faculty:	Frances Conner	Responses / Expected:	10 / 34 (29.41%)

					Fr	ances	Coni	ner			S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		Re	spon	ses (%	·)		Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 10%	0	0	0	9 90%	10	4.6	4.9	5	105	4.5	4.7	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	105	4.6	4.7	85
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	103	4.6	4.7	88
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	10 100%	10	5.0	5.0	5	105	4.6	4.7	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	105	4.5	4.7	85
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	105	4.5	4.6	85
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0	5.0	5	105	4.7	4.8	92
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	0	9 90%	10	4.8	4.9	5	105	4.6	4.7	81
Q9	My instructor encourages me to do my best work.	0	0	0	0	10 100%	10	5.0	5.0	5	105	4.6	4.7	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	105	4.6	4.7	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0	5.0	5	104	4.6	4.7	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	10 100%	10	5.0	5.0	5	105	4.6	4.8	85
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	0	9 90%	10	4.8	4.9	5	105	4.5	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	105	4.5	4.7	77

					ı	мсмт	486	0 - 010				Survey Con	nparisons	
Lab	s and Online Learning Questions		Re	espo	nses (%)		Co	urse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	86	4.4	4.5	75
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	153	4.5	4.7	73

Course:	MGMT - 5300 010 - Entrepreneurship and Venture Management	Department:	BUSI
Responsible Faculty:	Isaura Flores	Responses / Expected:	12 / 29 (41.38%)

					Isaur	a Flores	s				Si	ırvey Coı	npariso	ns
Cou	se Evaluation Questions		Res	sponse	s (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 8.3%	1 8.3%	0	4 33.3%	6 50%	12	4.1	4.5	4.5	105	4.5	4.7	27
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	1 8.3%	4 33.3%	6 50%	12	4.2	4.5	4.5	105	4.6	4.7	31
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	103	4.6	4.7	35
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	0	0	5 41.7%	6 50%	12	4.3	4.5	4.5	105	4.6	4.7	27
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	1 8.3%	4 33.3%	6 50%	12	4.2	4.5	4.5	105	4.5	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 16.7%	0	1 8.3%	3 25%	6 50%	12	3.9	4.5	4.5	105	4.5	4.6	38
Q7	My instructor establishes a climate of respect for students.	1 8.3%	0	1 8.3%	3 25%	7 58.3%	12	4.3	4.6	5	105	4.7	4.8	12
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	105	4.6	4.7	42
Q9	My instructor encourages me to do my best work.	1 8.3%	0	2 16.7%	2 16.7%	7 58.3%	12	4.2	4.6	5	105	4.6	4.7	42
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	0	1 8.3%	4 33.3%	6 50%	12	4.2	4.5	4.5	105	4.6	4.7	15
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 8.3%	1 8.3%	1 8.3%	2 16.7%	7 58.3%	12	4.1	4.6	5	104	4.6	4.7	35
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	1 8.3%	0	3 25%	7 58.3%	12	4.2	4.6	5	105	4.6	4.8	42
Q13	My instructor encourages me to develop new viewpoints.	1 8.3%	0	1 8.3%	3 25%	7 58.3%	12	4.3	4.6	5	105	4.5	4.7	42
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	1 8.3%	4 33.3%	6 50%	12	4.2	4.5	4.5	105	4.5	4.7	35

				MGMT	Г - 5300 -	010				Survey Comparisons					
Labs and Online Learning Questions			Respons	es (%)			Co	ourse			А	II			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7	4.0	4	86	4.4	4.5	29		
Q16 The course topics are organized in a coherent fashion.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	4.6	5	153	4.5	4.7	45		

Course:	MGMT - 5320 010 - Compensation and Motivation Theory	Department:	BUSI
Responsible Faculty:	Christopher DeClerk	Responses / Expected:	7 / 24 (29.17%)

					Christ	opher D	eC	lerk			S	urvey Coi	npariso	ns
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	105	4.5	4.7	42
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	105	4.6	4.7	42
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	103	4.6	4.7	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	105	4.6	4.7	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	105	4.5	4.7	58
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	105	4.5	4.6	73
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	105	4.7	4.8	65
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	105	4.6	4.7	73
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	105	4.6	4.7	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	105	4.6	4.7	58
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	104	4.6	4.7	69
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	105	4.6	4.8	85
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	7 100%	7	5.0	5.0	5	105	4.5	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	105	4.5	4.7	65

					ı	MGMT -	5320	0 - 010			Survey Comparisons					
La	os and Online Learning Questions		R	espo	nses (%	%)		Co	urse			А	II			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	86	4.4	4.5	70		
Q1	6 The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	153	4.5	4.7	91		

Course:	MGMT - 5870 011 - Leadership Research and Development	Department:	BUSI
Responsible Faculty:	Frances Conner	Responses / Expected:	2 / 11 (18.18%)

					F	rance	es (Conner			S	Survey Cor	npariso	ıs
Cour	se Evaluation Questions	R	esp	ons	es ('	%)		Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.5	4.7	96
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.6	4.7	96
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 1	2 00%	2	5.0	5.0	5	103	4.6	4.7	96
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.6	4.7	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.5	4.7	96
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.5	4.6	96
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.7	4.8	92
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.6	4.7	92
Q9	My instructor encourages me to do my best work.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.6	4.7	92
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.6	4.7	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 1	2 00%	2	5.0	5.0	5	104	4.6	4.7	92
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.6	4.8	85
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.5	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 1	2 00%	2	5.0	5.0	5	105	4.5	4.7	92

					MGMT	- 58	70 - 011			Survey Comparisons					
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	urse			A	I			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	86	4.4	4.5	89		
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	153	4.5	4.7	91		

Course:	MKTG - 3650 010 - Foundations of Marketing Practice	Department:	BUSI
Responsible Faculty:	Gary Holmes	Responses / Expected:	10 / 37 (27.03%)

					(Gary H	lolm	es			S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		Re	spons	ses (%)		Indi	vidual			BL	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 10%	6 60%	3 30%	10	4.2	4.2	4	105	4.5	4.7	4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	5 50%	4 40%	10	4.3	4.3	4	105	4.6	4.7	19
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 70%	3 30%	10	4.3	4.2	4	103	4.6	4.7	4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	8 80%	2 20%	10	4.2	4.1	4	105	4.6	4.7	4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	6 60%	3 30%	10	4.2	4.2	4	105	4.5	4.7	12
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	8 80%	2 20%	10	4.2	4.1	4	105	4.5	4.6	4
Q7	My instructor establishes a climate of respect for students.	0	0	0	8 80%	2 20%	10	4.2	4.1	4	105	4.7	4.8	4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	8 80%	2 20%	10	4.2	4.1	4	105	4.6	4.7	4
Q9	My instructor encourages me to do my best work.	0	0	1 10%	6 60%	3 30%	10	4.2	4.2	4	105	4.6	4.7	4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	7 70%	2 20%	10	4.1	4.1	4	105	4.6	4.7	4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	7 70%	2 20%	10	4.1	4.1	4	104	4.6	4.7	4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 60%	4 40%	10	4.4	4.3	4	105	4.6	4.8	12
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	8 80%	2 20%	10	4.2	4.1	4	105	4.5	4.7	4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	8 80%	2 20%	10	4.2	4.1	4	105	4.5	4.7	4

					N	ИКТG - 36	50 -	010			Survey Comparisons					
Labs	nline Learning Questions			Res	ponses (%	5)		C	ourse			Al	I			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	86	4.4	4.5	41		
Q16	The course topics are organized in a coherent fashion.	0	0	0	7 77.8%	2 22.2%	9	4.2	4.1	4	153	4.5	4.7	23		

Course:	MKTG - 5150 010 - Marketing Management	Department:	BUSI
Responsible Faculty:	Gary Holmes	Responses / Expected:	8 / 27 (29.63%)

					Ga	ry Holn	nes	:			Survey Comparisons					
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	ISI			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	105	4.5	4.7	50		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	105	4.6	4.7	73		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	103	4.6	4.7	65		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	105	4.6	4.7	42		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	105	4.5	4.7	73		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	105	4.5	4.6	38		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	105	4.7	4.8	73		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	105	4.6	4.7	27		
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	105	4.6	4.7	27		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	105	4.6	4.7	42		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	104	4.6	4.7	50		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	105	4.6	4.8	50		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	105	4.5	4.7	50		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	105	4.5	4.7	50		

					N	ИКТG - 51		Survey Comparisons						
Lab	os and Online Learning Questions			Responses (%) Course						Al	I			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	86	4.4	4.5	63
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	153	4.5	4.7	34

Course:	MUED - 1130 001 - Foundations in Music	Department:	SEHSTE
Responsible Faculty:	Ruth Guevara	Responses / Expected:	4 / 30 (13.33%)

					R	uth Gue	eva	ıra			Survey Comparisons							
Cou	se Evaluation Questions		Re	spons	ses (%	5)		Indi	vidual			SEI	ISTE					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q1	My instructor explains difficult material clearly.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	10	3.9	4.7	75				
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.9	4.9	75				
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.9	4.9	75				
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.8	4.9	75				
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.8	4.9	75				
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.5	4.8	75				
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	10	4.7	4.8	75				
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	10	4.5	4.7	75				
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	10	4.8	4.9	25				
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	10	4.2	4.7	75				
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	10	4.7	4.8	75				
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.7	4.8	75				
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	10	4.6	4.8	75				
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	10	4.7	4.8	75				

				М	UED -	Survey Comparisons									
bs and Online Learning Questions		Res	Responses (%)				Co	ourse		All					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	86	4.4	4.5	-		
Q16 The course topics are organized in a coherent fashion.	0	0	1 100%	0	0	1	3.0	3.0	3	153	4.5	4.7	9		

Course:	PADM - 5900 030 - Special Problems	Department:	PUBLDR
Responsible Faculty:	Jesseca Lightbourne	Responses / Expected:	8 / 25 (32%)

				J		Survey Comparisons								
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			PU	BLDR	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0	4.2	4	9	4.1	4.3	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	9	4.2	4.3	25
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	9	4.3	4.6	25
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0	4.2	4	9	4.1	4.3	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 25%	1 12.5%	1 12.5%	4 50%	8	3.9	4.5	4.5	9	4.0	4.6	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	9	4.7	4.8	25
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	9	4.6	4.8	25
Q8	My instructor is available to me on matters pertaining to the course.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	4.7	5	9	4.4	4.8	25
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	9	4.4	4.6	25
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	9	4.2	4.4	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	9	4.3	4.6	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1	4.3	4	9	4.2	4.4	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	9	4.4	4.4	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0	4.2	4	9	4.1	4.3	25

					F	PADM - 59		Survey Comparisons							
Lab	Labs and Online Learning Questions			Res	ponses (%)		Co	ourse		All				
		SD	D	N	A	SA	N Mean Grp Med.				N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	86	4.4	4.5	50	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	153	4.5	4.7	79	

Course:	PLDR - 5335 030 - PLDR Nonprofit Management	Department:	PUBLDR
Responsible Faculty:	Janiece Upshaw	Responses / Expected:	1 / 5 (20%)

					J	aniece	Ups	shaw			Survey Comparisons					
Cou	se Evaluation Questions		Re	espo	onses (%)		Indi	vidual			PU	BLDR			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.1	4.3	75		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.2	4.3	75		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.3	4.6	75		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.1	4.3	75		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.0	4.6	75		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.7	4.8	75		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.6	4.8	75		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.4	4.8	75		
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.4	4.6	75		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.2	4.4	25		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.3	4.6	75		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.2	4.4	75		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.4	4.4	75		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	9	4.1	4.3	75		

Course:	LAW - 7V30 001 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	4 / 7 (57.14%)

						Angel	la D	ownes				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	ividual			Laws	chool	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.2	4.5	92
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.4	4.6	91
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.3	4.6	93
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.2	4.6	93
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.3	4.6	91
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.1	4.5	91
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.5	4.7	87
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.5	4.7	90
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.5	4.7	91
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.2	4.6	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.5	4.7	87
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.4	4.7	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.4	4.6	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	1K	4.2	4.6	88

Course:	LAW - 7V30 501 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Meijken Westenskow	Responses / Expected:	11 / 19 (57.89%)

					Mei	jken We	ste	nskow			Survey Comparisons					
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual		LawSchool					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.5	68		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.4	4.6	60		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.3	4.6	62		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.2	4.6	56		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.3	4.6	60		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.1	4.5	72		
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	64		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	69		
Q9	My instructor encourages me to do my best work.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	69		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.6	54		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	62		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.4	4.7	51		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.4	4.6	58		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.6	57		

Course:	LAW - 7V91 001 - Practicum	Department:	LawSchool
Responsible Faculty:	Jonathan Perry	Responses / Expected:	6 / 13 (46.15%)

						Jonat	thar	Perry			Survey Comparisons					
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	ividual			Laws	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.2	4.5	92		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.4	4.6	91		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.3	4.6	93		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.2	4.6	93		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.3	4.6	91		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.1	4.5	91		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.5	4.7	87		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.5	4.7	90		
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.5	4.7	91		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.2	4.6	92		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.5	4.7	87		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.4	4.7	89		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.4	4.6	91		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.2	4.6	88		

Course:	LAW - 7V91 002 - Practicum	Department:	LawSchool
Responsible Faculty:	Daniel Correa	Responses / Expected:	10 / 17 (58.82%)

						Dani	iel C		Survey Comparisons					
Cou	se Evaluation Questions	F	Res	por	ses	s (%)		Indi	vidual			Laws	chool	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.2	4.5	92
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.4	4.6	91
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.3	4.6	93
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.2	4.6	93
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.3	4.6	91
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.1	4.5	91
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.5	4.7	87
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.5	4.7	90
Q9	My instructor encourages me to do my best work.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.5	4.7	91
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.2	4.6	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.5	4.7	87
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.4	4.7	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.4	4.6	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0	5.0	5	1K	4.2	4.6	88

Course:	LAW - 7V91 003 - Practicum	Department:	LawSchool
Responsible Faculty:	Kevin Robinowich	Responses / Expected:	10 / 23 (43.48%)

					Kevir	n Robi	now	ich			Survey Comparisons					
Cou	se Evaluation Questions		Res	ponse	s (%)			Indiv	vidual			Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 10%	0	1 10%	5 50%	3 30%	10	3.9	4.1	4	1K	4.2	4.5	14		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	0	5 50%	4 40%	10	4.1	4.3	4	1K	4.4	4.6	13		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	2 20%	3 30%	4 40%	10	3.9	4.2	4	1K	4.3	4.6	18		
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	2 20%	4 40%	3 30%	10	3.8	4.0	4	1K	4.2	4.6	12		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	0	4 40%	5 50%	10	4.2	4.5	4.5	1K	4.3	4.6	35		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	1 10%	2 20%	3 30%	3 30%	10	3.6	3.8	4	1K	4.1	4.5	10		
Q7	My instructor establishes a climate of respect for students.	1 10%	0	0	1 10%	8 80%	10	4.5	4.9	5	1K	4.5	4.7	60		
Q8	My instructor is available to me on matters pertaining to the course.	1 10%	1 10%	1 10%	2 20%	5 50%	10	3.9	4.5	4.5	1K	4.5	4.7	18		
Q9	My instructor encourages me to do my best work.	1 10%	0	0	3 30%	6 60%	10	4.3	4.7	5	1K	4.5	4.7	36		
Q10	My instructor provides timely feedback to guide my progress.	1 10%	2 20%	3 30%	1 10%	3 30%	10	3.3	3.2	3	1K	4.2	4.6	5		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	0	4 40%	5 50%	10	4.2	4.5	4.5	1K	4.5	4.7	17		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	1 10%	3 30%	5 50%	10	4.1	4.5	4.5	1K	4.4	4.7	25		
Q13	My instructor encourages me to develop new viewpoints.	1 10%	1 10%	0	3 30%	5 50%	10	4.0	4.5	4.5	1K	4.4	4.6	29		
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	2 20%	1 10%	3 30%	3 30%	10	3.5	3.8	4	1K	4.2	4.6	10		

Course:	LAW - 7V91 301 - Practicum	Department:	LawSchool
Responsible Faculty:	Melissa Shultz	Responses / Expected:	8 / 11 (72.73%)

					Meliss	a Shult:	z				Survey Comparisons				
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			Laws	School		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	4.5	4.5	1K	4.2	4.5	40	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3	4.7	5	1K	4.4	4.6	44	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	1K	4.3	4.6	34	
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	1K	4.2	4.6	36	
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	4.5	4.5	1K	4.3	4.6	35	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	1 12.5%	0	2 25%	4 50%	8	3.9	4.5	4.5	1K	4.1	4.5	37	
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	4.8	5	1K	4.5	4.7	49	
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	2 25%	0	5 62.5%	8	4.0	4.7	5	1K	4.5	4.7	38	
Q9	My instructor encourages me to do my best work.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	1K	4.5	4.7	38	
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	1 12.5%	0	2 25%	4 50%	8	3.9	4.5	4.5	1K	4.2	4.6	36	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	4.8	5	1K	4.5	4.7	53	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3	4.7	5	1K	4.4	4.7	39	
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	1K	4.4	4.6	44	
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	1K	4.2	4.6	42	

Course:	LAW - 7V91 502 - Practicum	Department:	LawSchool
Responsible Faculty:	Johannes Walker	Responses / Expected:	3 / 5 (60%)

						Johani		Survey Comparisons							
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	vidual		LawSchool				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.2	4.5	92	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.4	4.6	91	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.3	4.6	93	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.2	4.6	93	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.3	4.6	91	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.1	4.5	91	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.5	4.7	87	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.5	4.7	90	
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.5	4.7	91	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.2	4.6	92	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.5	4.7	87	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.4	4.7	89	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.4	4.6	91	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	1K	4.2	4.6	88	

Course:	LAW - 7V93 302 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	1 / 1 (100%)

						Chery	/I W		Survey Comparisons						
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	ividual		LawSchool				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.5	92	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.6	91	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	93	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.3	4.6	91	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.1	4.5	91	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	87	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	90	
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	91	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	92	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	87	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.7	89	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.6	91	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	88	

Course:	LAW - 7V93 303 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	2 / 5 (40%)

					Che	eryl Wa	ttle	y			Survey Comparisons					
Cou	se Evaluation Questions		Res	pons	es (%)			Indi	vidual			LawS	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	1K	4.2	4.5	7		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.4	4.6	28		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.3	4.6	34		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.2	4.6	36		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.3	4.6	35		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.1	4.5	37		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	1K	4.5	4.7	87		
Q8	My instructor is available to me on matters pertaining to the course.	0	1 50%	0	0	1 50%	2	3.5	3.5	3.5	1K	4.5	4.7	1		
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.5	4.7	24		
Q10	My instructor provides timely feedback to guide my progress.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	1K	4.2	4.6	3		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.5	4.7	17		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.4	4.7	25		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	1K	4.4	4.6	29		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	1K	4.2	4.6	88		

Course:	LAW - 7V93 311 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	1 / 1 (100%)

						Chery		Survey Comparisons						
Cou	se Evaluation Questions	R	esp	oon	ses	s (%)		Indi	vidual		LawSchool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.5	92
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.6	91
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.3	4.6	93
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	93
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.3	4.6	91
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.1	4.5	91
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	87
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	90
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	91
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	87
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.7	89
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.6	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	88

Course:	LAW - 7V93 313 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	6 / 15 (40%)

		Cheryl Wattley										Survey Comparisons					
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidual								
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	1K	4.2	4.5	40			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	1K	4.4	4.6	28			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	4.8	5	1K	4.3	4.6	55			
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	1K	4.2	4.6	36			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	1K	4.3	4.6	45			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	1K	4.1	4.5	37			
Q7	My instructor establishes a climate of respect for students.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	1K	4.5	4.7	10			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	1K	4.5	4.7	47			
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	1K	4.5	4.7	24			
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	1K	4.2	4.6	36			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	1K	4.5	4.7	42			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	1K	4.4	4.7	25			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	1K	4.4	4.6	50			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	1K	4.2	4.6	26			

Course:	LAW - 7099 001 - Louis a. Bedford Jr. Mentorship Program	Department:	DALREG
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	43 / 82 (52.44%)

				Е	Survey Comparisons									
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			DAI	REG	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 2.4%	1 2.4%	15 35.7%	7 16.7%	18 42.9%	42	4.0	4.1	4	55	3.9	3.8	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.4%	0	16 38.1%	7 16.7%	18 42.9%	42	4.0	4.1	4	55	3.8	3.6	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	3 7.1%	0	13 31%	9 21.4%	17 40.5%	42	3.9	4.1	4	54	3.8	3.9	75
Q4	My instructor provides material that helps me do well on assignments.	1 2.4%	1 2.4%	16 38.1%	7 16.7%	17 40.5%	42	3.9	3.9	4	55	3.8	3.5	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 4.8%	1 2.4%	11 26.2%	9 21.4%	19 45.2%	42	4.0	4.3	4	55	3.9	4.0	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2.4%	1 2.4%	16 38.1%	6 14.3%	18 42.9%	42	3.9	4.0	4	55	3.8	3.5	75
Q7	My instructor establishes a climate of respect for students.	1 2.4%	1 2.4%	7 16.7%	8 19%	25 59.5%	42	4.3	4.7	5	55	4.2	4.6	75
Q8	My instructor is available to me on matters pertaining to the course.	1 2.4%	0	7 16.7%	13 31%	21 50%	42	4.3	4.5	4.5	55	4.1	4.4	75
Q9	My instructor encourages me to do my best work.	1 2.4%	2 4.8%	10 23.8%	7 16.7%	22 52.4%	42	4.1	4.5	5	55	4.0	4.3	75
Q10	My instructor provides timely feedback to guide my progress.	2 4.8%	0	12 28.6%	6 14.3%	22 52.4%	42	4.1	4.5	5	55	3.9	4.1	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 4.8%	0	7 16.7%	5 11.9%	28 66.7%	42	4.4	4.8	5	55	4.3	4.7	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 4.8%	0	8 19%	7 16.7%	25 59.5%	42	4.3	4.7	5	55	4.1	4.6	75
Q13	My instructor encourages me to develop new viewpoints.	2 4.8%	0	7 16.7%	7 16.7%	26 61.9%	42	4.3	4.7	5	55	4.2	4.6	75
Q14	My instructor made the subject interesting and motivated me to learn.	2 4.8%	0	8 19%	7 16.7%	25 59.5%	42	4.3	4.7	5	55	4.1	4.6	75

Course:	LAW - 7099 501 - Louis a. Bedford Jr. Mentorship Program	Department:	DALREG
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	13 / 36 (36.11%)

				E	Ernest H	ligginbo	tha	m			Survey Comparisons				
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			DAI	LREG		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	8 61.5%	1 7.7%	4 30.8%	13	3.7	3.3	3	55	3.9	3.8	25	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 7.7%	9 69.2%	0	3 23.1%	13	3.4	3.1	3	55	3.8	3.6	25	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 8.3%	6 50%	2 16.7%	3 25%	12	3.6	3.3	3	54	3.8	3.9	25	
Q4	My instructor provides material that helps me do well on assignments.	0	2 15.4%	8 61.5%	0	3 23.1%	13	3.3	3.1	3	55	3.8	3.5	25	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 7.7%	8 61.5%	1 7.7%	3 23.1%	13	3.5	3.2	3	55	3.9	4.0	25	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	10 76.9%	0	3 23.1%	13	3.5	3.2	3	55	3.8	3.5	25	
Q7	My instructor establishes a climate of respect for students.	0	1 7.7%	7 53.8%	0	5 38.5%	13	3.7	3.3	3	55	4.2	4.6	25	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	8 61.5%	0	5 38.5%	13	3.8	3.3	3	55	4.1	4.4	25	
Q9	My instructor encourages me to do my best work.	0	0	9 69.2%	0	4 30.8%	13	3.6	3.2	3	55	4.0	4.3	25	
Q10	My instructor provides timely feedback to guide my progress.	0	0	10 76.9%	0	3 23.1%	13	3.5	3.2	3	55	3.9	4.1	25	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	6 46.2%	1 7.7%	6 46.2%	13	4.0	4.0	4	55	4.3	4.7	25	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	8 61.5%	0	5 38.5%	13	3.8	3.3	3	55	4.1	4.6	25	
Q13	My instructor encourages me to develop new viewpoints.	0	0	8 61.5%	0	5 38.5%	13	3.8	3.3	3	55	4.2	4.6	25	
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	8 61.5%	0	4 30.8%	13	3.5	3.2	3	55	4.1	4.6	25	

Course:	LAW - 7106 001 - Legal Skills and Analysis	Department:	LawSchool
Responsible Faculty:	Diana Howard	Responses / Expected:	7 / 15 (46.67%)

						Dian	а Н	oward			Survey Comparisons					
Cou	se Evaluation Questions	R	esp	on	ses	(%)		Ind	ividua	l		Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.2	4.5	92		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.4	4.6	91		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.3	4.6	93		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.2	4.6	93		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.3	4.6	91		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.1	4.5	91		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.5	4.7	87		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	1K	4.5	4.7	90		
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.5	4.7	91		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.2	4.6	92		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.5	4.7	87		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.4	4.7	89		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.4	4.6	91		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.2	4.6	88		

Course:	LAW - 7106 501 - Legal Skills and Analysis	Department:	LawSchool
Responsible Faculty:	Meijken Westenskow	Responses / Expected:	1 / 4 (25%)

					Mei	jken We	ste	enskow			Survey Comparisons					
Cou	se Evaluation Questions		Re	espo	onses (%)		Indi	vidual			LawS	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.5	92		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.6	91		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	1K	4.3	4.6	8		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	93		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.3	4.6	91		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.1	4.5	91		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	87		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	90		
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	4.0	4	1K	4.5	4.7	3		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	92		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.5	4.7	87		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.7	89		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.4	4.6	91		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1K	4.2	4.6	88		

Course:	LAW - 7120 301 - The Trial Process	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	11 / 21 (52.38%)

					Cł	neryl Wa	ittle	y			Survey Comparisons					
Cou	se Evaluation Questions			Respo	nses (%)		Indiv	vidual			Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.5	68		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.4	4.6	69		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	1K	4.3	4.6	40		
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	1K	4.2	4.6	44		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.3	4.6	60		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	1K	4.1	4.5	54		
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	64		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.5	4.7	56		
Q9	My instructor encourages me to do my best work.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.5	4.7	56		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.6	54		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	1K	4.5	4.7	71		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	1K	4.4	4.7	72		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.4	4.6	67		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.6	57		

Course:	LAW - 7127 001 - Law Practice Technology	Department:	LawSchool
Responsible Faculty:	Jennifer Wondracek	Responses / Expected:	11 / 19 (57.89%)

					Jennife	r Wondr	ace	k			Survey Comparisons						
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			Laws	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3	4.3	4	1K	4.2	4.5	23			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4	4.4	4	1K	4.4	4.6	19			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 9.1%	1 9.1%	5 45.5%	4 36.4%	11	4.1	4.2	4	1K	4.3	4.6	24			
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 27.3%	2 18.2%	6 54.5%	11	4.3	4.6	5	1K	4.2	4.6	44			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	6 54.5%	5 45.5%	11	4.5	4.4	4	1K	4.3	4.6	28			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	1 9.1%	4 36.4%	4 36.4%	11	3.8	4.1	4	1K	4.1	4.5	17			
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	1K	4.5	4.7	19			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	1K	4.5	4.7	41			
Q9	My instructor encourages me to do my best work.	0	1 9.1%	2 18.2%	2 18.2%	6 54.5%	11	4.2	4.6	5	1K	4.5	4.7	31			
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	2 18.2%	2 18.2%	6 54.5%	11	4.2	4.6	5	1K	4.2	4.6	42			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	1K	4.5	4.7	23			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	1K	4.4	4.7	34			
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4	4.6	5	1K	4.4	4.6	32			
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 9.1%	1 9.1%	4 36.4%	5 45.5%	11	4.2	4.4	4	1K	4.2	4.6	23			

Course:	LAW - 7127 301 - Law Practice Technology	Department:	LawSchool
Responsible Faculty:	Karen Jarrell; Jennifer Wondracek	Responses / Expected:	11 / 20 (55%)

					Survey Comparisons										
Course Evaluation Questions			Respo	nses (%)			Indi	vidual		LawSchool					
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.2	4.5	16		
Jennifer Wondracek	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	1K	4.2	4.5	45		

				Fa	aculty R	esul	ts				Survey Co	mpariso	ns
Course Evaluation Questions		ı	Respo	nses (%)		Indiv	vidual			LawS	chool	
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.4	4.6	8
Jennifer Wondracek	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.4	4.6	45

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fac	ulty Res	ults				;	Survey Co	mpariso	ns
Course Evaluation Questions		Re	espon	ses (%)			Indiv	vidual			LawS	chool	
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	4 40%	2 20%	4 40%	10	4.0	4.0	4	1K	4.3	4.6	8
Jennifer Wondracek	0	1 9.1%	0	4 36.4%	6 54.5%	11	4.4	4.6	5	1K	4.3	4.6	40

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				Fac	ulty Res	ults					Survey Co	mpariso	1s
Course Evaluation Questions		R	espons	ses (%)			Indi	vidual			Laws	School	
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.2	4.6	20
Jennifer Wondracek	0	1 9.1%	0	5 45.5%	5 45.5%	11	4.3	4.4	4	1K	4.2	4.6	27

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

Owner Furbusing Ownstons				F	aculty Re	esult	s				Survey Co	mparisor	ıs
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			Laws	School	
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.3	4.6	12
Jennifer Wondracek	0	0	0	6 54.5%	5 45.5%	11	4.5	4.4	4	1K	4.3	4.6	28

Ourse Endustine Ourstine				Fa	culty Re	sults	i				Survey Co	mpariso	ıs
Course Evaluation Questions			Respon	ıses (%)			Indi	vidual			LawS	chool	
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	2 20%	5 50%	10	4.2	4.5	4.5	1K	4.1	4.5	37
Jennifer Wondracek	0	0	3 27.3%	4 36.4%	4 36.4%	11	4.1	4.1	4	1K	4.1	4.5	17

				ı	Faculty Re	esults	;				Survey Co	mparison	s
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			LawS	School	
Q7. My instructor establishes a climate of respect for students.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	1 10%	6 60%	10	4.3	4.7	5	1K	4.5	4.7	27
Jennifer Wondracek	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.5	4.7	31

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				F	aculty Re	esult	s				- Survey Co	mparison	s
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			LawS	School	
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.5	4.7	5
Jennifer Wondracek	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.5	4.7	41

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				ı	Faculty Re	sults					Survey Co	mparisons	;
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			LawS	School	
Q9. My instructor encourages me to do my best work.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	2 20%	5 50%	10	4.2	4.5	4.5	1K	4.5	4.7	24
Jennifer Wondracek	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	1K	4.5	4.7	40

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				F	aculty Re	sults	5				- Survey Co	mparison	s
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			LawS	School	
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	4 40%	3 30%	3 30%	10	3.9	3.8	4	1K	4.2	4.6	12
Jennifer Wondracek	0	0	1 9.1%	7 63.6%	3 27.3%	11	4.2	4.1	4	1K	4.2	4.6	16

Course Fusionation Quantities				Fa	aculty Re	sult	s				Survey Co	mparisor	1s
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			LawS	chool	
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.5	4.7	6
Jennifer Wondracek	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	62

				Fa	culty R	esu	lts			;	Survey Co	mpariso	ons
Course Evaluation Questions		ı	Respo	nses (%	5)		Indi	vidual			LawS	School	
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.4	4.7	7
Jennifer Wondracek	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.4	4.7	51

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				F	aculty Re	sults					Survey Co	mparisons	s
Course Evaluation Questions			Respo	nses (%)			Indi	vidual			LawS	chool	
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.4	4.6	8
Jennifer Wondracek	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4	4.4	4	1K	4.4	4.6	22

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

O Furlanting Occasions				F		Survey Comparisons								
Course Evaluation Questions		Responses (%)					Indi	vidual		LawSchool				
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Karen Jarrell	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	1K	4.2	4.6	17	
Jennifer Wondracek	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.2	4.6	57	

Course:	LAW - 7127 501 - Law Practice Technology	Department:	LawSchool
Responsible Faculty:	Jennifer Wondracek	Responses / Expected:	4 / 5 (80%)

					Je	nnifer W	on	dracek			Survey Comparisons					
Cou	se Evaluation Questions	Re	spo	ns	es ((%)		Indi	vidual			Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.2	4.5	72		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.4	4.6	64		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.3	4.6	66		
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.2	4.6	68		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.3	4.6	65		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.1	4.5	68		
Q7	My instructor establishes a climate of respect for students.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.5	4.7	49		
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	1K	4.5	4.7	47		
Q9	My instructor encourages me to do my best work.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.5	4.7	58		
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.2	4.6	56		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.5	4.7	53		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.4	4.7	55		
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.4	4.6	60		
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	1K	4.2	4.6	62		

Course:	LAW - 7203 001 - Civil Procedure II	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	49 / 81 (60.49%)

					Eric Po	rterfiel	d				Survey Comparisons				
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			LawS	chool		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	1 2%	6 12.2%	5 10.2%	18 36.7%	19 38.8%	49	4.0	4.2	4	1K	4.2	4.5	18	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2%	4 8.2%	2 4.1%	24 49%	18 36.7%	49	4.1	4.2	4	1K	4.4	4.6	10	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	6 12.2%	7 14.3%	8 16.3%	14 28.6%	14 28.6%	49	3.5	3.8	4	1K	4.3	4.6	3	
Q4	My instructor provides material that helps me do well on assignments.	3 6.1%	4 8.2%	9 18.4%	19 38.8%	14 28.6%	49	3.8	3.9	4	1K	4.2	4.6	8	
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 2%	4 8.2%	8 16.3%	20 40.8%	16 32.7%	49	3.9	4.1	4	1K	4.3	4.6	10	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	4 8.2%	3 6.1%	9 18.4%	17 34.7%	16 32.7%	49	3.8	4.0	4	1K	4.1	4.5	14	
Q7	My instructor establishes a climate of respect for students.	1 2%	0	2 4.1%	14 28.6%	32 65.3%	49	4.6	4.7	5	1K	4.5	4.7	32	
Q8	My instructor is available to me on matters pertaining to the course.	1 2%	1 2%	3 6.1%	16 32.7%	28 57.1%	49	4.4	4.6	5	1K	4.5	4.7	31	
Q9	My instructor encourages me to do my best work.	2 4.1%	0	8 16.3%	17 34.7%	22 44.9%	49	4.2	4.4	4	1K	4.5	4.7	10	
Q10	My instructor provides timely feedback to guide my progress.	1 2%	5 10.2%	8 16.3%	16 32.7%	19 38.8%	49	4.0	4.2	4	1K	4.2	4.6	19	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2%	2 4.1%	3 6.1%	13 26.5%	30 61.2%	49	4.4	4.7	5	1K	4.5	4.7	32	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.1%	1 2.1%	5 10.4%	17 35.4%	24 50%	48	4.3	4.5	4.5	1K	4.4	4.7	25	
Q13	My instructor encourages me to develop new viewpoints.	1 2.1%	1 2.1%	7 14.6%	22 45.8%	17 35.4%	48	4.1	4.2	4	1K	4.4	4.6	10	
Q14	My instructor made the subject interesting and motivated me to learn.	8 16.3%	5 10.2%	8 16.3%	13 26.5%	15 30.6%	49	3.4	3.8	4	1K	4.2	4.6	8	

Course:	LAW - 7203 501 - Civil Procedure II	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	13 / 37 (35.14%)

		Thomas Perkins										Survey Comparisons					
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			Laws	School				
		SD	D	N	А	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2	4.4	4	1K	4.2	4.5	31			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 7.7%	2 15.4%	3 23.1%	7 53.8%	13	4.2	4.6	5	1K	4.4	4.6	34			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	3 23.1%	3 23.1%	1 7.7%	6 46.2%	13	3.8	4.0	4	1K	4.3	4.6	8			
Q4	My instructor provides material that helps me do well on assignments.	0	2 15.4%	3 23.1%	3 23.1%	5 38.5%	13	3.8	4.0	4	1K	4.2	4.6	12			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 8.3%	0	6 50%	5 41.7%	12	4.3	4.3	4	1K	4.3	4.6	21			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	2 15.4%	3 23.1%	7 53.8%	13	4.2	4.6	5	1K	4.1	4.5	44			
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7	4.9	5	1K	4.5	4.7	54			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 15.4%	1 7.7%	10 76.9%	13	4.6	4.9	5	1K	4.5	4.7	62			
Q9	My instructor encourages me to do my best work.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2	4.4	4	1K	4.5	4.7	14			
Q10	My instructor provides timely feedback to guide my progress.	0	1 7.7%	2 15.4%	1 7.7%	9 69.2%	13	4.4	4.8	5	1K	4.2	4.6	49			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6	4.8	5	1K	4.5	4.7	45			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 7.7%	1 7.7%	5 38.5%	6 46.2%	13	4.2	4.4	4	1K	4.4	4.7	17			
Q13	My instructor encourages me to develop new viewpoints.	0	1 7.7%	2 15.4%	5 38.5%	5 38.5%	13	4.1	4.2	4	1K	4.4	4.6	12			
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 15.4%	1 7.7%	3 23.1%	7 53.8%	13	4.2	4.6	5	1K	4.2	4.6	31			

Course:	LAW - 7210 001 - Legal Writing II	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	72 / 81 (88.89%)

					Christ	ine Tan	ner				Survey Comparisons					
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 1.4%	2 2.8%	4 5.6%	29 40.3%	36 50%	72	4.3	4.5	4.5	1K	4.2	4.5	40		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 2.8%	1 1.4%	0	30 41.7%	39 54.2%	72	4.4	4.6	5	1K	4.4	4.6	36		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 1.4%	0	2 2.8%	33 45.8%	36 50%	72	4.4	4.5	4.5	1K	4.3	4.6	34		
Q4	My instructor provides material that helps me do well on assignments.	3 4.2%	0	3 4.2%	33 45.8%	33 45.8%	72	4.3	4.4	4	1K	4.2	4.6	29		
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 2.8%	0	5 6.9%	33 45.8%	32 44.4%	72	4.3	4.4	4	1K	4.3	4.6	25		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 2.8%	0	13 18.1%	25 34.7%	32 44.4%	72	4.2	4.3	4	1K	4.1	4.5	23		
Q7	My instructor establishes a climate of respect for students.	1 1.4%	0	1 1.4%	27 37.5%	43 59.7%	72	4.5	4.7	5	1K	4.5	4.7	25		
Q8	My instructor is available to me on matters pertaining to the course.	1 1.4%	0	5 6.9%	29 40.3%	37 51.4%	72	4.4	4.5	5	1K	4.5	4.7	21		
Q9	My instructor encourages me to do my best work.	1 1.4%	0	5 6.9%	26 36.1%	40 55.6%	72	4.4	4.6	5	1K	4.5	4.7	32		
Q10	My instructor provides timely feedback to guide my progress.	1 1.4%	1 1.4%	8 11.1%	29 40.3%	33 45.8%	72	4.3	4.4	4	1K	4.2	4.6	31		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 1.4%	1 1.4%	8 11.1%	24 33.3%	38 52.8%	72	4.3	4.6	5	1K	4.5	4.7	21		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 1.4%	2 2.8%	9 12.5%	29 40.3%	31 43.1%	72	4.2	4.3	4	1K	4.4	4.7	12		
Q13	My instructor encourages me to develop new viewpoints.	1 1.4%	2 2.8%	13 18.1%	28 38.9%	28 38.9%	72	4.1	4.2	4	1K	4.4	4.6	14		
Q14	My instructor made the subject interesting and motivated me to learn.	2 2.8%	1 1.4%	8 11.1%	32 44.4%	29 40.3%	72	4.2	4.3	4	1K	4.2	4.6	19		

Course:	LAW - 7210 501 - Legal Writing II	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	30 / 38 (78.95%)

					Chris	tine Ta	mer				Survey Comparisons					
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			Laws	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 3.3%	1 3.3%	1 3.3%	13 43.3%	14 46.7%	30	4.3	4.4	4	1K	4.2	4.5	34		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 3.3%	1 3.3%	0	14 46.7%	14 46.7%	30	4.3	4.4	4	1K	4.4	4.6	22		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 6.7%	1 3.3%	0	10 33.3%	17 56.7%	30	4.3	4.6	5	1K	4.3	4.6	42		
Q4	My instructor provides material that helps me do well on assignments.	1 3.3%	1 3.3%	2 6.7%	12 40%	14 46.7%	30	4.2	4.4	4	1K	4.2	4.6	31		
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 6.7%	0	1 3.3%	14 46.7%	13 43.3%	30	4.2	4.4	4	1K	4.3	4.6	23		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.3%	1 3.3%	2 6.7%	13 43.3%	13 43.3%	30	4.2	4.3	4	1K	4.1	4.5	25		
Q7	My instructor establishes a climate of respect for students.	0	1 3.3%	0	14 46.7%	15 50%	30	4.4	4.5	4.5	1K	4.5	4.7	10		
Q8	My instructor is available to me on matters pertaining to the course.	1 3.3%	0	1 3.3%	12 40%	16 53.3%	30	4.4	4.6	5	1K	4.5	4.7	23		
Q9	My instructor encourages me to do my best work.	0	1 3.3%	2 6.7%	13 43.3%	14 46.7%	30	4.3	4.4	4	1K	4.5	4.7	16		
Q10	My instructor provides timely feedback to guide my progress.	1 3.3%	0	2 6.7%	14 46.7%	13 43.3%	30	4.3	4.4	4	1K	4.2	4.6	27		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 6.7%	15 50%	13 43.3%	30	4.4	4.4	4	1K	4.5	4.7	10		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.3%	1 3.3%	1 3.3%	12 40%	15 50%	30	4.3	4.5	4.5	1K	4.4	4.7	25		
Q13	My instructor encourages me to develop new viewpoints.	1 3.3%	1 3.3%	3 10%	12 40%	13 43.3%	30	4.2	4.3	4	1K	4.4	4.6	19		
Q14	My instructor made the subject interesting and motivated me to learn.	1 3.3%	2 6.7%	1 3.3%	13 43.3%	13 43.3%	30	4.2	4.3	4	1K	4.2	4.6	21		

Course:	LAW - 7211 001 - Legal Research	Department:	LawSchool
Responsible Faculty:	Edward Hart	Responses / Expected:	49 / 81 (60.49%)

			Edward Hart									Survey Comparisons					
Cou	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			Laws	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	5 10.2%	4 8.2%	21 42.9%	19 38.8%	49	4.1	4.2	4	1K	4.2	4.5	21			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 2%	1 2%	26 53.1%	21 42.9%	49	4.4	4.4	4	1K	4.4	4.6	18			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 2%	3 6.1%	21 42.9%	24 49%	49	4.4	4.5	4	1K	4.3	4.6	29			
Q4	My instructor provides material that helps me do well on assignments.	0	4 8.2%	3 6.1%	20 40.8%	22 44.9%	49	4.2	4.4	4	1K	4.2	4.6	25			
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 2%	1 2%	6 12.2%	22 44.9%	19 38.8%	49	4.2	4.3	4	1K	4.3	4.6	15			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2%	6 12.2%	3 6.1%	20 40.8%	19 38.8%	49	4.0	4.2	4	1K	4.1	4.5	21			
Q7	My instructor establishes a climate of respect for students.	0	1 2.1%	3 6.3%	18 37.5%	26 54.2%	48	4.4	4.6	5	1K	4.5	4.7	19			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 2%	21 42.9%	27 55.1%	49	4.5	4.6	5	1K	4.5	4.7	27			
Q9	My instructor encourages me to do my best work.	0	1 2%	4 8.2%	23 46.9%	21 42.9%	49	4.3	4.3	4	1K	4.5	4.7	10			
Q10	My instructor provides timely feedback to guide my progress.	1 2%	6 12.2%	4 8.2%	21 42.9%	17 34.7%	49	4.0	4.1	4	1K	4.2	4.6	16			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	4 8.2%	23 46.9%	22 44.9%	49	4.4	4.4	4	1K	4.5	4.7	12			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 4.1%	4 8.2%	22 44.9%	21 42.9%	49	4.3	4.3	4	1K	4.4	4.7	14			
Q13	My instructor encourages me to develop new viewpoints.	1 2%	1 2%	6 12.2%	23 46.9%	18 36.7%	49	4.1	4.2	4	1K	4.4	4.6	16			
Q14	My instructor made the subject interesting and motivated me to learn.	3 6.1%	4 8.2%	9 18.4%	15 30.6%	18 36.7%	49	3.8	4.1	4	1K	4.2	4.6	12			

Course:	LAW - 7211 501 - Legal Research	Department:	LawSchool
Responsible Faculty:	Edward Hart	Responses / Expected:	32 / 37 (86.49%)

		Edward Hart									Survey Comparisons				
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			LawS	chool		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	3 9.4%	6 18.8%	6 18.8%	13 40.6%	4 12.5%	32	3.3	3.6	4	1K	4.2	4.5	4	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 6.3%	2 6.3%	4 12.5%	17 53.1%	7 21.9%	32	3.8	4.0	4	1K	4.4	4.6	5	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 6.3%	4 12.5%	4 12.5%	17 53.1%	5 15.6%	32	3.6	3.9	4	1K	4.3	4.6	5	
Q4	My instructor provides material that helps me do well on assignments.	3 9.4%	8 25%	5 15.6%	12 37.5%	4 12.5%	32	3.2	3.5	3.5	1K	4.2	4.6	3	
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 9.4%	5 15.6%	9 28.1%	12 37.5%	3 9.4%	32	3.2	3.4	3	1K	4.3	4.6	1	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 6.3%	5 15.6%	9 28.1%	13 40.6%	3 9.4%	32	3.3	3.5	3.5	1K	4.1	4.5	6	
Q7	My instructor establishes a climate of respect for students.	2 6.3%	4 12.5%	4 12.5%	11 34.4%	11 34.4%	32	3.8	4.0	4	1K	4.5	4.7	3	
Q8	My instructor is available to me on matters pertaining to the course.	2 6.3%	2 6.3%	6 18.8%	8 25%	14 43.8%	32	3.9	4.3	4	1K	4.5	4.7	9	
Q9	My instructor encourages me to do my best work.	1 3.1%	2 6.3%	7 21.9%	13 40.6%	9 28.1%	32	3.8	4.0	4	1K	4.5	4.7	1	
Q10	My instructor provides timely feedback to guide my progress.	2 6.5%	3 9.7%	8 25.8%	16 51.6%	2 6.5%	31	3.4	3.7	4	1K	4.2	4.6	8	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 6.3%	4 12.5%	6 18.8%	13 40.6%	7 21.9%	32	3.6	3.8	4	1K	4.5	4.7	3	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.1%	3 9.4%	7 21.9%	17 53.1%	4 12.5%	32	3.6	3.8	4	1K	4.4	4.7	3	
Q13	My instructor encourages me to develop new viewpoints.	2 6.5%	7 22.6%	7 22.6%	13 41.9%	2 6.5%	31	3.2	3.4	3	1K	4.4	4.6	3	
Q14	My instructor made the subject interesting and motivated me to learn.	6 18.8%	4 12.5%	8 25%	9 28.1%	5 15.6%	32	3.1	3.3	3	1K	4.2	4.6	2	

Co	ourse:	LAW - 7213 001 - Property I	Department:	LawSchool
Responsible Fa	culty:	Jonathan Bridges	Responses / Expected:	54 / 81 (66.67%)

		Jonathan Bridges									Survey Comparisons					
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			LawS	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	11 20.4%	17 31.5%	9 16.7%	9 16.7%	8 14.8%	54	2.7	2.4	2	1K	4.2	4.5	1		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 5.6%	11 20.4%	8 14.8%	20 37%	12 22.2%	54	3.5	3.8	4	1K	4.4	4.6	2		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	5 9.3%	13 24.1%	8 14.8%	19 35.2%	9 16.7%	54	3.3	3.6	4	1K	4.3	4.6	1		
Q4	My instructor provides material that helps me do well on assignments.	6 11.3%	12 22.6%	10 18.9%	17 32.1%	8 15.1%	53	3.2	3.4	3	1K	4.2	4.6	1		
Q5	My instructor explains new ideas by relating them to familiar concepts.	5 9.3%	9 16.7%	8 14.8%	22 40.7%	10 18.5%	54	3.4	3.7	4	1K	4.3	4.6	5		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	13 24.5%	11 20.8%	12 22.6%	8 15.1%	9 17%	53	2.8	2.7	3	1K	4.1	4.5	1		
Q7	My instructor establishes a climate of respect for students.	2 3.7%	3 5.6%	5 9.3%	16 29.6%	28 51.9%	54	4.2	4.5	5	1K	4.5	4.7	16		
Q8	My instructor is available to me on matters pertaining to the course.	3 5.6%	2 3.7%	4 7.4%	25 46.3%	20 37%	54	4.1	4.2	4	1K	4.5	4.7	6		
Q9	My instructor encourages me to do my best work.	2 3.8%	2 3.8%	8 15.1%	17 32.1%	24 45.3%	53	4.1	4.4	4	1K	4.5	4.7	10		
Q10	My instructor provides timely feedback to guide my progress.	25 46.3%	9 16.7%	8 14.8%	4 7.4%	8 14.8%	54	2.3	1.7	2	1K	4.2	4.6	1		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 3.8%	3 5.7%	9 17%	16 30.2%	23 43.4%	53	4.0	4.3	4	1K	4.5	4.7	8		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 3.8%	6 11.3%	11 20.8%	14 26.4%	20 37.7%	53	3.8	4.0	4	1K	4.4	4.7	5		
Q13	My instructor encourages me to develop new viewpoints.	2 3.8%	1 1.9%	11 20.8%	20 37.7%	19 35.8%	53	4.0	4.1	4	1K	4.4	4.6	6		
Q14	My instructor made the subject interesting and motivated me to learn.	8 15.1%	9 17%	6 11.3%	15 28.3%	15 28.3%	53	3.4	3.7	4	1K	4.2	4.6	6		

Course:	LAW - 7214 501 - Property II	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	29 / 41 (70.73%)

			Jonathan Bridges										Survey Comparisons					
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			Laws	School					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk				
Q1	My instructor explains difficult material clearly.	1 3.4%	0	3 10.3%	12 41.4%	13 44.8%	29	4.2	4.4	4	1K	4.2	4.5	31				
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 10.3%	11 37.9%	15 51.7%	29	4.4	4.5	5	1K	4.4	4.6	32				
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 3.4%	6 20.7%	11 37.9%	11 37.9%	29	4.1	4.2	4	1K	4.3	4.6	20				
Q4	My instructor provides material that helps me do well on assignments.	1 3.4%	2 6.9%	7 24.1%	8 27.6%	11 37.9%	29	3.9	4.1	4	1K	4.2	4.6	18				
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 10.3%	12 41.4%	14 48.3%	29	4.4	4.5	4	1K	4.3	4.6	31				
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.4%	0	4 13.8%	10 34.5%	14 48.3%	29	4.2	4.5	4	1K	4.1	4.5	31				
Q7	My instructor establishes a climate of respect for students.	0	0	0	8 27.6%	21 72.4%	29	4.7	4.8	5	1K	4.5	4.7	44				
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 3.4%	6 20.7%	22 75.9%	29	4.7	4.8	5	1K	4.5	4.7	59				
Q9	My instructor encourages me to do my best work.	0	0	3 10.3%	7 24.1%	19 65.5%	29	4.6	4.7	5	1K	4.5	4.7	45				
Q10	My instructor provides timely feedback to guide my progress.	0	2 6.9%	2 6.9%	12 41.4%	13 44.8%	29	4.2	4.4	4	1K	4.2	4.6	29				
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 3.4%	9 31%	19 65.5%	29	4.6	4.7	5	1K	4.5	4.7	38				
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 6.9%	10 34.5%	17 58.6%	29	4.5	4.6	5	1K	4.4	4.7	36				
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 13.8%	8 27.6%	17 58.6%	29	4.4	4.6	5	1K	4.4	4.6	36				
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 3.4%	4 13.8%	7 24.1%	17 58.6%	29	4.4	4.6	5	1K	4.2	4.6	40				

Course:	LAW - 7217 501 - Torts II	Department:	LawSchool
Responsible Faculty:	Ellen Pryor	Responses / Expected:	11 / 36 (30.56%)

		Ellen Pryor										Survey Comparisons					
Cour	se Evaluation Questions		R	espons	es (%)			Indi	vidual			LawS	chool				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	1 9.1%	0	8 72.7%	2 18.2%	11	4.0	4.1	4	1K	4.2	4.5	12			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	4.8	5	1K	4.4	4.6	60			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.3	4.6	76			
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	1K	4.2	4.6	56			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 9.1%	0	6 54.5%	4 36.4%	11	4.2	4.3	4	1K	4.3	4.6	15			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	6 54.5%	5 45.5%	11	4.5	4.4	4	1K	4.1	4.5	29			
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	4.8	5	1K	4.5	4.7	44			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	1K	4.5	4.7	75			
Q9	My instructor encourages me to do my best work.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.5	4.7	56			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.2	4.6	47			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 9.1%	0	2 18.2%	8 72.7%	11	4.5	4.8	5	1K	4.5	4.7	49			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.4	4.7	51			
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5	4.7	5	1K	4.4	4.6	45			
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 9.1%	0	3 27.3%	7 63.6%	11	4.5	4.7	5	1K	4.2	4.6	44			

Course:	LAW - 7218 501 - First Amendment	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	14 / 15 (93.33%)

					Bria	an Owsl	еу				Survey Comparisons					
Cou	se Evaluation Questions		R	espons	es (%)			Indiv	vidual			Laws	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4	4.5	4.5	1K	4.2	4.5	40		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4	4.5	4.5	1K	4.4	4.6	28		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5	4.6	5	1K	4.3	4.6	44		
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 21.4%	4 28.6%	7 50%	14	4.3	4.5	4.5	1K	4.2	4.6	36		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5	4.6	5	1K	4.3	4.6	42		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 14.3%	5 35.7%	7 50%	14	4.4	4.5	4.5	1K	4.1	4.5	37		
Q7	My instructor establishes a climate of respect for students.	0	1 7.1%	1 7.1%	5 35.7%	7 50%	14	4.3	4.5	4.5	1K	4.5	4.7	10		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 50%	7 50%	14	4.5	4.5	4.5	1K	4.5	4.7	18		
Q9	My instructor encourages me to do my best work.	0	0	3 21.4%	2 14.3%	9 64.3%	14	4.4	4.7	5	1K	4.5	4.7	43		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 14.3%	12 85.7%	14	4.9	4.9	5	1K	4.2	4.6	70		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 7.1%	0	5 35.7%	8 57.1%	14	4.4	4.6	5	1K	4.5	4.7	28		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	4 28.6%	3 21.4%	7 50%	14	4.2	4.5	4.5	1K	4.4	4.7	25		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5	4.7	5	1K	4.4	4.6	41		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5	4.6	5	1K	4.2	4.6	34		

Course:	LAW - 7219 501 - Civil Rights	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	5 / 8 (62.50%)

					N	1ichael	Ma	slanka			Survey Comparisons				
Cou	se Evaluation Questions		Res	poi	nses	(%)		Indi	ividual			LawS	chool		
				N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.2	4.5	92	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.4	4.6	91	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.3	4.6	93	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.2	4.6	72	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.3	4.6	91	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.1	4.5	91	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.5	4.7	87	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.5	4.7	90	
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.5	4.7	91	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.2	4.6	92	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.5	4.7	87	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.4	4.7	89	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.4	4.6	91	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.2	4.6	88	

Course:	LAW - 7220 301 - Courtroom Advocacy Skills	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	7 / 11 (63.64%)

					Che	Survey Comparisons								
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual		LawSchool			
				N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1K	4.2	4.5	49
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	1K	4.4	4.6	56
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	1K	4.3	4.6	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1K	4.2	4.6	47
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.3	4.6	56
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.1	4.5	62
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.5	4.7	87
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	1K	4.5	4.7	31
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	1K	4.5	4.7	71
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.2	4.6	51
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0	5.0	5	1K	4.5	4.7	87
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	1K	4.4	4.7	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.4	4.6	55
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	1K	4.2	4.6	68

Course:	LAW - 7221 501 - Effective Oral Communication	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	5 / 8 (62.50%)

		Michael Maslanka										Survey Comparisons					
Cou	se Evaluation Questions		Re	espon	ses (9	%)		Indi	vidual			LawS	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	1K	4.2	4.5	53			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	1K	4.4	4.6	39			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.3	4.6	75			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.2	4.6	72			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.3	4.6	69			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.1	4.5	69			
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.5	4.7	87			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	1K	4.5	4.7	66			
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.5	4.7	66			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	1K	4.2	4.6	64			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.5	4.7	87			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.4	4.7	89			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.4	4.6	91			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	1K	4.2	4.6	88			

Course:	LAW - 7222 501 - Contracts I	Department:	LawSchool
Responsible Faculty:	Matthew Crockett	Responses / Expected:	12 / 36 (33.33%)

		Matthew Crockett										Survey Comparisons				
Cou	se Evaluation Questions		R	espons	es (%)			Indiv	vidual			LawS	chool			
				N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	2 16.7%	1 8.3%	9 75%	12	4.6	4.8	5	1K	4.2	4.5	72		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	1K	4.4	4.6	71		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 8.3%	0	2 16.7%	9 75%	12	4.6	4.8	5	1K	4.3	4.6	66		
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5	4.8	5	1K	4.2	4.6	59		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 8.3%	0	2 16.7%	9 75%	12	4.6	4.8	5	1K	4.3	4.6	65		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 8.3%	1 8.3%	2 16.7%	8 66.7%	12	4.4	4.8	5	1K	4.1	4.5	58		
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	1K	4.5	4.7	49		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	1K	4.5	4.7	75		
Q9	My instructor encourages me to do my best work.	0	0	1 8.3%	0	11 91.7%	12	4.8	5.0	5	1K	4.5	4.7	80		
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	1K	4.2	4.6	68		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1K	4.5	4.7	53		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	1K	4.4	4.7	64		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	1K	4.4	4.6	69		
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 8.3%	0	0	11 91.7%	12	4.8	5.0	5	1K	4.2	4.6	73		

Course:	LAW - 7226 301 - Environmental Law	Department:	LawSchool
Responsible Faculty:	Howard Gilberg	Responses / Expected:	7 / 13 (53.85%)

		Howard Gilberg									Survey Comparisons				
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	vidual			Laws	School		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0	4.0	4	1K	4.2	4.5	7	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	1K	4.4	4.6	16	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1	4.1	4	1K	4.3	4.6	16	
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	1 14.3%	4 57.1%	1 14.3%	7	3.7	3.9	4	1K	4.2	4.6	6	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0	4.0	4	1K	4.3	4.6	8	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	1 14.3%	4 57.1%	1 14.3%	7	3.7	3.9	4	1K	4.1	4.5	12	
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	1K	4.5	4.7	40	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1K	4.5	4.7	31	
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	1K	4.5	4.7	34	
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	1K	4.2	4.6	25	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1K	4.5	4.7	28	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	1K	4.4	4.7	47	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1K	4.4	4.6	34	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1K	4.2	4.6	34	

Course:	LAW - 7294 001 - Capstone I	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	8 / 22 (36.36%)

		Everett Chambers									Survey Comparisons				
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			Laws	School		
				N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	1K	4.2	4.5	25	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	1K	4.4	4.6	13	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1	4.3	4	1K	4.3	4.6	25	
Q4	My instructor provides material that helps me do well on assignments.	0	2 25%	0	3 37.5%	3 37.5%	8	3.9	4.2	4	1K	4.2	4.6	20	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	1K	4.3	4.6	18	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6	4.2	4	1K	4.1	4.5	19	
Q7	My instructor establishes a climate of respect for students.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	1K	4.5	4.7	10	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	1K	4.5	4.7	9	
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	1K	4.5	4.7	24	
Q10	My instructor provides timely feedback to guide my progress.	0	2 25%	0	3 37.5%	3 37.5%	8	3.9	4.2	4	1K	4.2	4.6	22	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	1K	4.5	4.7	17	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	1K	4.4	4.7	10	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	1K	4.4	4.6	18	
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9	4.2	4	1K	4.2	4.6	17	

Course:	LAW - 7294 501 - Capstone I	Department:	LawSchool
Responsible Faculty:	Preyal Shah	Responses / Expected:	29 / 67 (43.28%)

					Preya	al Shah					Survey Comparisons					
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			LawS	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	4 13.8%	4 13.8%	6 20.7%	6 20.7%	9 31%	29	3.4	3.6	4	1K	4.2	4.5	4		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	4 13.8%	1 3.4%	8 27.6%	6 20.7%	10 34.5%	29	3.6	3.8	4	1K	4.4	4.6	2		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	4 13.8%	1 3.4%	4 13.8%	10 34.5%	10 34.5%	29	3.7	4.1	4	1K	4.3	4.6	12		
Q4	My instructor provides material that helps me do well on assignments.	4 13.8%	2 6.9%	4 13.8%	9 31%	10 34.5%	29	3.7	4.0	4	1K	4.2	4.6	12		
Q5	My instructor explains new ideas by relating them to familiar concepts.	4 13.8%	2 6.9%	9 31%	6 20.7%	8 27.6%	29	3.4	3.4	3	1K	4.3	4.6	3		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 10.3%	4 13.8%	8 27.6%	5 17.2%	9 31%	29	3.4	3.4	3	1K	4.1	4.5	5		
Q7	My instructor establishes a climate of respect for students.	3 10.7%	1 3.6%	5 17.9%	8 28.6%	11 39.3%	28	3.8	4.1	4	1K	4.5	4.7	5		
Q8	My instructor is available to me on matters pertaining to the course.	3 10.3%	1 3.4%	7 24.1%	6 20.7%	12 41.4%	29	3.8	4.1	4	1K	4.5	4.7	3		
Q9	My instructor encourages me to do my best work.	4 13.8%	0	5 17.2%	9 31%	11 37.9%	29	3.8	4.1	4	1K	4.5	4.7	5		
Q10	My instructor provides timely feedback to guide my progress.	3 10.3%	3 10.3%	7 24.1%	6 20.7%	10 34.5%	29	3.6	3.8	4	1K	4.2	4.6	10		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 10.3%	4 13.8%	8 27.6%	5 17.2%	9 31%	29	3.4	3.4	3	1K	4.5	4.7	1		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	4 13.8%	2 6.9%	10 34.5%	5 17.2%	8 27.6%	29	3.4	3.4	3	1K	4.4	4.7	1		
Q13	My instructor encourages me to develop new viewpoints.	3 10.7%	1 3.6%	11 39.3%	5 17.9%	8 28.6%	28	3.5	3.4	3	1K	4.4	4.6	1		
Q14	My instructor made the subject interesting and motivated me to learn.	5 17.2%	4 13.8%	5 17.2%	7 24.1%	8 27.6%	29	3.3	3.6	4	1K	4.2	4.6	5		

Course:	LAW - 7296 001 - Capstone III	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	24 / 46 (52.17%)

				Е	verett	Chamb	ers				Survey Comparisons				
Cour	se Evaluation Questions		Res	ponses	(%)			Indiv	vidual		LawSchool				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	3 13%	3 13%	2 8.7%	15 65.2%	23	4.3	4.7	5	1K	4.2	4.5	58	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 8.3%	1 4.2%	5 20.8%	16 66.7%	24	4.5	4.8	5	1K	4.4	4.6	49	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	4 16.7%	3 12.5%	3 12.5%	14 58.3%	24	4.1	4.6	5	1K	4.3	4.6	46	
Q4	My instructor provides material that helps me do well on assignments.	1 4.2%	2 8.3%	2 8.3%	4 16.7%	15 62.5%	24	4.3	4.7	5	1K	4.2	4.6	53	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 8.7%	7 30.4%	14 60.9%	23	4.5	4.7	5	1K	4.3	4.6	48	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.2%	3 12.5%	2 8.3%	5 20.8%	13 54.2%	24	4.1	4.6	5	1K	4.1	4.5	45	
Q7	My instructor establishes a climate of respect for students.	1 4.2%	1 4.2%	3 12.5%	3 12.5%	16 66.7%	24	4.3	4.8	5	1K	4.5	4.7	35	
Q8	My instructor is available to me on matters pertaining to the course.	0	1 4.2%	3 12.5%	4 16.7%	16 66.7%	24	4.5	4.8	5	1K	4.5	4.7	47	
Q9	My instructor encourages me to do my best work.	0	0	1 4.2%	7 29.2%	16 66.7%	24	4.6	4.8	5	1K	4.5	4.7	48	
Q10	My instructor provides timely feedback to guide my progress.	3 12.5%	4 16.7%	3 12.5%	3 12.5%	11 45.8%	24	3.6	4.2	4	1K	4.2	4.6	22	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 4.2%	1 4.2%	6 25%	16 66.7%	24	4.5	4.8	5	1K	4.5	4.7	42	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 4.2%	8 33.3%	15 62.5%	24	4.6	4.7	5	1K	4.4	4.7	39	
Q13	My instructor encourages me to develop new viewpoints.	0	0	5 20.8%	3 12.5%	16 66.7%	24	4.5	4.8	5	1K	4.4	4.6	50	
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.2%	3 12.5%	4 16.7%	2 8.3%	14 58.3%	24	4.0	4.6	5	1K	4.2	4.6	38	

Course:	LAW - 7296 501 - Capstone III	Department:	LawSchool
Responsible Faculty:	Preyal Shah	Responses / Expected:	21 / 38 (55.26%)

					Pre	yal Sha	ıh				Survey Comparisons				
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			Laws	School		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	1 4.8%	2 9.5%	6 28.6%	12 57.1%	21	4.4	4.6	5	1K	4.2	4.5	49	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 4.8%	0	6 28.6%	14 66.7%	21	4.6	4.8	5	1K	4.4	4.6	49	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 4.8%	1 4.8%	5 23.8%	14 66.7%	21	4.5	4.8	5	1K	4.3	4.6	55	
Q4	My instructor provides material that helps me do well on assignments.	0	2 9.5%	0	6 28.6%	13 61.9%	21	4.4	4.7	5	1K	4.2	4.6	51	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 9.5%	7 33.3%	12 57.1%	21	4.5	4.6	5	1K	4.3	4.6	42	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 9.5%	0	6 28.6%	13 61.9%	21	4.4	4.7	5	1K	4.1	4.5	51	
Q7	My instructor establishes a climate of respect for students.	2 9.5%	0	1 4.8%	4 19%	14 66.7%	21	4.3	4.8	5	1K	4.5	4.7	35	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 9.5%	3 14.3%	16 76.2%	21	4.7	4.8	5	1K	4.5	4.7	59	
Q9	My instructor encourages me to do my best work.	0	0	1 4.8%	4 19%	16 76.2%	21	4.7	4.8	5	1K	4.5	4.7	60	
Q10	My instructor provides timely feedback to guide my progress.	0	2 9.5%	2 9.5%	6 28.6%	11 52.4%	21	4.2	4.5	5	1K	4.2	4.6	40	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.8%	0	0	6 28.6%	14 66.7%	21	4.5	4.8	5	1K	4.5	4.7	42	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 4.8%	6 28.6%	14 66.7%	21	4.6	4.8	5	1K	4.4	4.7	44	
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 19%	2 9.5%	15 71.4%	21	4.5	4.8	5	1K	4.4	4.6	55	
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 4.8%	1 4.8%	5 23.8%	14 66.7%	21	4.5	4.8	5	1K	4.2	4.6	49	

Course:	LAW - 7305 001 - Texas Civil Procedure	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	20 / 22 (90.91%)

					Cł	nristin	е Та	mer			Survey Comparisons					
Cour	se Evaluation Questions		Re	spons	ses (%	b)		Indi	vidual			LawS	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	1 5%	19 95%	20	5.0	5.0	5	1K	4.2	4.5	81		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.4	4.6	73		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.3	4.6	78		
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 10%	0	18 90%	20	4.8	4.9	5	1K	4.2	4.6	80		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5%	1 5%	18 90%	20	4.9	4.9	5	1K	4.3	4.6	78		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.1	4.5	81		
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.5	4.7	70		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.5	4.7	71		
Q9	My instructor encourages me to do my best work.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.5	4.7	75		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.2	4.6	74		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.5	4.7	67		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.4	4.7	72		
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 10%	0	18 90%	20	4.8	4.9	5	1K	4.4	4.6	73		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 10%	18 90%	20	4.9	4.9	5	1K	4.2	4.6	70		

Course:	LAW - 7307 501 - TEXAS CRIMINAL PROCEDURE	Department:	LawSchool
Responsible Faculty:	Clarence Cole	Responses / Expected:	11 / 34 (32.35%)

					CI	arence	Cole	•			Survey Comparisons					
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			LawS	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.2	4.5	56		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.4	4.6	69		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1K	4.3	4.6	62		
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	4.8	5	1K	4.2	4.6	66		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.3	4.6	71		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5	4.7	5	1K	4.1	4.5	54		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 9.1%	10 90.9%	11	4.9	5.0	5	1K	4.5	4.7	73		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4	4.6	5	1K	4.5	4.7	25		
Q9	My instructor encourages me to do my best work.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.5	4.7	69		
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 18.2%	0	9 81.8%	11	4.6	4.9	5	1K	4.2	4.6	66		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	11 100%	11	5.0	5.0	5	1K	4.5	4.7	87		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.4	4.7	62		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1K	4.4	4.6	67		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	1K	4.2	4.6	44		

Course:	LAW - 7310 001 - Criminal Law	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	69 / 82 (84.15%)

					Bria	n Owsl	еу				S	Survey Co	mpariso	ons
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			Laws	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 2.9%	2 2.9%	2 2.9%	23 33.8%	39 57.4%	68	4.4	4.6	5	1K	4.2	4.5	49
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	21 30.4%	48 69.6%	69	4.7	4.8	5	1K	4.4	4.6	53
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 1.4%	2 2.9%	13 18.8%	53 76.8%	69	4.7	4.8	5	1K	4.3	4.6	71
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	22 31.9%	47 68.1%	69	4.7	4.8	5	1K	4.2	4.6	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 1.4%	4 5.8%	22 31.9%	42 60.9%	69	4.5	4.7	5	1K	4.3	4.6	48
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 1.4%	1 1.4%	5 7.2%	18 26.1%	44 63.8%	69	4.5	4.7	5	1K	4.1	4.5	56
Q7	My instructor establishes a climate of respect for students.	1 1.4%	2 2.9%	5 7.2%	22 31.9%	39 56.5%	69	4.4	4.6	5	1K	4.5	4.7	23
Q8	My instructor is available to me on matters pertaining to the course.	0	1 1.4%	3 4.3%	21 30.4%	44 63.8%	69	4.6	4.7	5	1K	4.5	4.7	44
Q9	My instructor encourages me to do my best work.	0	0	5 7.2%	20 29%	44 63.8%	69	4.6	4.7	5	1K	4.5	4.7	43
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	17 24.6%	52 75.4%	69	4.8	4.8	5	1K	4.2	4.6	58
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	2 2.9%	4 5.8%	25 36.2%	38 55.1%	69	4.4	4.6	5	1K	4.5	4.7	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 1.5%	4 6%	26 38.8%	36 53.7%	67	4.4	4.6	5	1K	4.4	4.7	32
Q13	My instructor encourages me to develop new viewpoints.	0	2 2.9%	4 5.8%	22 31.9%	41 59.4%	69	4.5	4.7	5	1K	4.4	4.6	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 1.4%	2 2.9%	18 26.1%	48 69.6%	69	4.6	4.8	5	1K	4.2	4.6	51

Spring	2019 LW Survey
6191 -	Spring 2019 - LW1

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7312 001 - Practice Foundation I: Interviewing and Counseling	Department:	LawSchool
Responsible Faculty:	Laura Frase	Responses / Expected:	68 / 81 (83.95%)

					Laura	Frase					S	urvey Co	mparis	ons
Cou	se Evaluation Questions		Res	ponses	(%)			Indiv	vidual			LawS	chool	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 2.9%	7 10.3%	35 51.5%	24 35.3%	68	4.2	4.2	4	1K	4.2	4.5	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 1.5%	5 7.4%	30 44.1%	32 47.1%	68	4.4	4.4	4	1K	4.4	4.6	22
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 2.9%	6 8.8%	6 8.8%	29 42.6%	25 36.8%	68	4.0	4.2	4	1K	4.3	4.6	22
Q4	My instructor provides material that helps me do well on assignments.	2 2.9%	9 13.2%	11 16.2%	22 32.4%	24 35.3%	68	3.8	4.0	4	1K	4.2	4.6	16
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	5 7.4%	36 52.9%	27 39.7%	68	4.3	4.3	4	1K	4.3	4.6	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	9 13.2%	10 14.7%	10 14.7%	19 27.9%	20 29.4%	68	3.5	3.8	4	1K	4.1	4.5	8
Q7	My instructor establishes a climate of respect for students.	0	0	3 4.5%	27 40.3%	37 55.2%	67	4.5	4.6	5	1K	4.5	4.7	21
Q8	My instructor is available to me on matters pertaining to the course.	1 1.5%	1 1.5%	9 13.2%	25 36.8%	32 47.1%	68	4.3	4.4	4	1K	4.5	4.7	14
Q9	My instructor encourages me to do my best work.	0	0	7 10.3%	27 39.7%	34 50%	68	4.4	4.5	4.5	1K	4.5	4.7	24
Q10	My instructor provides timely feedback to guide my progress.	5 7.4%	2 2.9%	11 16.2%	25 36.8%	25 36.8%	68	3.9	4.1	4	1K	4.2	4.6	16
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 1.5%	2 2.9%	24 35.3%	41 60.3%	68	4.5	4.7	5	1K	4.5	4.7	31
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 2.9%	6 8.8%	29 42.6%	31 45.6%	68	4.3	4.4	4	1K	4.4	4.7	17
Q13	My instructor encourages me to develop new viewpoints.	0	3 4.4%	4 5.9%	30 44.1%	31 45.6%	68	4.3	4.4	4	1K	4.4	4.6	22
Q14	My instructor made the subject interesting and motivated me to learn.	4 5.9%	6 8.8%	9 13.2%	24 35.3%	25 36.8%	68	3.9	4.1	4	1K	4.2	4.6	14

Spring	2019 LW Survey
6191 -	Spring 2019 - LW1

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7313 501 - Practice Foundation II: Negotiation and Conflict Resolution	Department:	LawSchool
Responsible Faculty:	Laura Frase	Responses / Expected:	36 / 42 (85.71%)

					Laura	Frase					5	Survey Co	mnarise	one
Cou	se Evaluation Questions		Res	ponses		iiiuoc		Indi	vidual				chool	,,,,
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 5.6%	1 2.8%	7 19.4%	15 41.7%	11 30.6%	36	3.9	4.0	4	1K	4.2	4.5	10
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.8%	1 2.8%	6 16.7%	17 47.2%	11 30.6%	36	4.0	4.1	4	1K	4.4	4.6	6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 5.6%	4 11.1%	4 11.1%	13 36.1%	13 36.1%	36	3.9	4.1	4	1K	4.3	4.6	14
Q4	My instructor provides material that helps me do well on assignments.	2 5.6%	6 16.7%	7 19.4%	13 36.1%	8 22.2%	36	3.5	3.7	4	1K	4.2	4.6	5
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 5.6%	2 5.6%	5 13.9%	19 52.8%	8 22.2%	36	3.8	4.0	4	1K	4.3	4.6	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	4 11.1%	8 22.2%	7 19.4%	10 27.8%	7 19.4%	36	3.2	3.4	3	1K	4.1	4.5	3
Q7	My instructor establishes a climate of respect for students.	4 11.1%	2 5.6%	10 27.8%	9 25%	11 30.6%	36	3.6	3.7	4	1K	4.5	4.7	1
Q8	My instructor is available to me on matters pertaining to the course.	2 5.6%	1 2.8%	2 5.6%	16 44.4%	15 41.7%	36	4.1	4.3	4	1K	4.5	4.7	12
Q9	My instructor encourages me to do my best work.	2 5.6%	1 2.8%	8 22.2%	10 27.8%	15 41.7%	36	4.0	4.2	4	1K	4.5	4.7	6
Q10	My instructor provides timely feedback to guide my progress.	2 5.6%	5 13.9%	10 27.8%	9 25%	10 27.8%	36	3.6	3.6	4	1K	4.2	4.6	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 5.6%	4 11.1%	5 13.9%	13 36.1%	12 33.3%	36	3.8	4.0	4	1K	4.5	4.7	5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 5.6%	1 2.8%	7 19.4%	12 33.3%	14 38.9%	36	4.0	4.2	4	1K	4.4	4.7	7
Q13	My instructor encourages me to develop new viewpoints.	2 5.7%	2 5.7%	9 25.7%	11 31.4%	11 31.4%	35	3.8	3.9	4	1K	4.4	4.6	5
Q14	My instructor made the subject interesting and motivated me to learn.	2 5.6%	7 19.4%	12 33.3%	7 19.4%	8 22.2%	36	3.3	3.3	3	1K	4.2	4.6	2

Course:	LAW - 7315 001 - Family Law	Department:	LawSchool
Responsible Faculty:	Melissa Shultz	Responses / Expected:	18 / 18 (100%)

					Mel	issa Sh	ultz				Survey Comparisons					
Cou	se Evaluation Questions		Re	espons	ses (%)			Indiv	vidual		LawSchool					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	1 5.6%	5 27.8%	12 66.7%	18	4.6	4.8	5	1K	4.2	4.5	61		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 5.6%	17 94.4%	18	4.9	5.0	5	1K	4.4	4.6	79		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 22.2%	14 77.8%	18	4.8	4.9	5	1K	4.3	4.6	73		
Q4	My instructor provides material that helps me do well on assignments.	0	1 5.6%	0	3 16.7%	14 77.8%	18	4.7	4.9	5	1K	4.2	4.6	69		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 16.7%	15 83.3%	18	4.8	4.9	5	1K	4.3	4.6	73		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 16.7%	15 83.3%	18	4.8	4.9	5	1K	4.1	4.5	75		
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 11.8%	15 88.2%	17	4.9	4.9	5	1K	4.5	4.7	68		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 5.6%	17 94.4%	18	4.9	5.0	5	1K	4.5	4.7	79		
Q9	My instructor encourages me to do my best work.	0	0	0	2 11.1%	16 88.9%	18	4.9	4.9	5	1K	4.5	4.7	75		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 11.1%	16 88.9%	18	4.9	4.9	5	1K	4.2	4.6	74		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 11.1%	16 88.9%	18	4.9	4.9	5	1K	4.5	4.7	67		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 11.8%	15 88.2%	17	4.9	4.9	5	1K	4.4	4.7	69		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5.6%	1 5.6%	16 88.9%	18	4.8	4.9	5	1K	4.4	4.6	73		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 16.7%	15 83.3%	18	4.8	4.9	5	1K	4.2	4.6	66		

Course:	LAW - 7317 501 - Professional Responsibility	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	7 / 10 (70%)

					Mich	ael Mas	lan	nka			;	Survey Co	mpariso	ns	
Course Evaluation Questions					ses (%)			Indi	vidual		LawSchool				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	1K	4.2	4.5	27	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.4	4.6	56	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	1K	4.3	4.6	27	
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	1K	4.2	4.6	23	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	1K	4.3	4.6	56	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.1	4.5	62	
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	1K	4.5	4.7	40	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.5	4.7	53	
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.5	4.7	53	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 42.9%	4 57.1%	7	4.6	4.6	5	1K	4.2	4.6	44	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.5	4.7	47	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	1K	4.4	4.7	67	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.4	4.6	55	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1K	4.2	4.6	53	

Course:	LAW - 7318 501 - Evidence	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	23 / 58 (39.66%)

		Eric Porterfield										Survey Comparisons					
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			Laws	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	1 4.3%	1 4.3%	0	7 30.4%	14 60.9%	23	4.4	4.7	5	1K	4.2	4.5	55			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 4.3%	0	0	8 34.8%	14 60.9%	23	4.5	4.7	5	1K	4.4	4.6	42			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 9.1%	2 9.1%	5 22.7%	13 59.1%	22	4.3	4.7	5	1K	4.3	4.6	48			
Q4	My instructor provides material that helps me do well on assignments.	2 8.7%	1 4.3%	2 8.7%	4 17.4%	14 60.9%	23	4.2	4.7	5	1K	4.2	4.6	49			
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 4.3%	1 4.3%	0	5 21.7%	16 69.6%	23	4.5	4.8	5	1K	4.3	4.6	53			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.3%	2 8.7%	2 8.7%	5 21.7%	13 56.5%	23	4.2	4.6	5	1K	4.1	4.5	47			
Q7	My instructor establishes a climate of respect for students.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	4.9	5	1K	4.5	4.7	57			
Q8	My instructor is available to me on matters pertaining to the course.	1 4.3%	0	1 4.3%	5 21.7%	16 69.6%	23	4.5	4.8	5	1K	4.5	4.7	51			
Q9	My instructor encourages me to do my best work.	1 4.3%	0	1 4.3%	5 21.7%	16 69.6%	23	4.5	4.8	5	1K	4.5	4.7	51			
Q10	My instructor provides timely feedback to guide my progress.	1 4.3%	0	2 8.7%	6 26.1%	14 60.9%	23	4.4	4.7	5	1K	4.2	4.6	45			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.3%	0	0	3 13%	19 82.6%	23	4.7	4.9	5	1K	4.5	4.7	62			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.3%	0	1 4.3%	3 13%	18 78.3%	23	4.6	4.9	5	1K	4.4	4.7	59			
Q13	My instructor encourages me to develop new viewpoints.	1 4.3%	0	0	7 30.4%	15 65.2%	23	4.5	4.7	5	1K	4.4	4.6	47			
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.3%	1 4.3%	2 8.7%	4 17.4%	15 65.2%	23	4.3	4.7	5	1K	4.2	4.6	47			

Course:	LAW - 7321 001 - Business Associations	Department:	LawSchool
Responsible Faculty:	Reynaldo Valencia	Responses / Expected:	22 / 56 (39.29%)

					Reyna	ldo Vale	enci	а			Survey Comparisons					
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	1 4.5%	5 22.7%	16 72.7%	22	4.7	4.8	5	1K	4.2	4.5	68		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 27.3%	16 72.7%	22	4.7	4.8	5	1K	4.4	4.6	60		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 9.1%	1 4.5%	5 22.7%	14 63.6%	22	4.4	4.7	5	1K	4.3	4.6	52		
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 4.5%	6 27.3%	15 68.2%	22	4.6	4.8	5	1K	4.2	4.6	63		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	6 27.3%	16 72.7%	22	4.7	4.8	5	1K	4.3	4.6	60		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.5%	2 9.1%	0	3 13.6%	16 72.7%	22	4.4	4.8	5	1K	4.1	4.5	66		
Q7	My instructor establishes a climate of respect for students.	0	0	1 4.5%	4 18.2%	17 77.3%	22	4.7	4.9	5	1K	4.5	4.7	54		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 27.3%	16 72.7%	22	4.7	4.8	5	1K	4.5	4.7	56		
Q9	My instructor encourages me to do my best work.	0	0	1 4.5%	4 18.2%	17 77.3%	22	4.7	4.9	5	1K	4.5	4.7	62		
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 4.5%	4 18.2%	17 77.3%	22	4.7	4.9	5	1K	4.2	4.6	60		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 22.7%	17 77.3%	22	4.8	4.9	5	1K	4.5	4.7	56		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 22.7%	17 77.3%	22	4.8	4.9	5	1K	4.4	4.7	56		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 22.7%	17 77.3%	22	4.8	4.9	5	1K	4.4	4.6	62		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 4.5%	5 22.7%	16 72.7%	22	4.7	4.8	5	1K	4.2	4.6	57		

Course:	LAW - 7322 001 - Commercial Law	Department:	LawSchool
Responsible Faculty:	Matthew Crockett	Responses / Expected:	29 / 52 (55.77%)

					Mattl	new Cro	cke	tt			Survey Comparisons					
Cou	se Evaluation Questions		R	espons	ses (%)			Indiv	vidual			LawS	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	2 6.9%	2 6.9%	25 86.2%	29	4.8	4.9	5	1K	4.2	4.5	75		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 6.9%	27 93.1%	29	4.9	5.0	5	1K	4.4	4.6	77		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 6.9%	27 93.1%	29	4.9	5.0	5	1K	4.3	4.6	82		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 10.3%	26 89.7%	29	4.9	4.9	5	1K	4.2	4.6	80		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 13.8%	25 86.2%	29	4.9	4.9	5	1K	4.3	4.6	75		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 3.4%	0	3 10.3%	25 86.2%	29	4.8	4.9	5	1K	4.1	4.5	78		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	29 100%	29	5.0	5.0	5	1K	4.5	4.7	87		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	29 100%	29	5.0	5.0	5	1K	4.5	4.7	90		
Q9	My instructor encourages me to do my best work.	0	0	0	0	29 100%	29	5.0	5.0	5	1K	4.5	4.7	91		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 3.4%	28 96.6%	29	5.0	5.0	5	1K	4.2	4.6	82		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	29 100%	29	5.0	5.0	5	1K	4.5	4.7	87		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	29 100%	29	5.0	5.0	5	1K	4.4	4.7	89		
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 3.4%	0	28 96.6%	29	4.9	5.0	5	1K	4.4	4.6	81		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	29 100%	29	5.0	5.0	5	1K	4.2	4.6	88		

Course:	LAW - 7323 001 - Constitutional Law II: Federal Criminal Procedure	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	21 / 22 (95.45%)

					Bria		Survey Comparisons							
Cou	se Evaluation Questions		Re	espons	ses (%)			Indiv	vidual			LawS	chool	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	7 33.3%	14 66.7%	21	4.7	4.8	5	1K	4.2	4.5	61
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 33.3%	14 66.7%	21	4.7	4.8	5	1K	4.4	4.6	49
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 4.8%	0	4 19%	16 76.2%	21	4.7	4.8	5	1K	4.3	4.6	69
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 4.8%	6 28.6%	14 66.7%	21	4.6	4.8	5	1K	4.2	4.6	59
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 9.5%	6 28.6%	13 61.9%	21	4.5	4.7	5	1K	4.3	4.6	51
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 4.8%	1 4.8%	7 33.3%	12 57.1%	21	4.4	4.6	5	1K	4.1	4.5	49
Q7	My instructor establishes a climate of respect for students.	0	1 4.8%	1 4.8%	6 28.6%	13 61.9%	21	4.5	4.7	5	1K	4.5	4.7	29
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	8 38.1%	13 61.9%	21	4.6	4.7	5	1K	4.5	4.7	36
Q9	My instructor encourages me to do my best work.	0	0	0	7 33.3%	14 66.7%	21	4.7	4.8	5	1K	4.5	4.7	48
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 14.3%	18 85.7%	21	4.9	4.9	5	1K	4.2	4.6	70
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 38.1%	13 61.9%	21	4.6	4.7	5	1K	4.5	4.7	34
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 4.8%	6 28.6%	14 66.7%	21	4.6	4.8	5	1K	4.4	4.7	44
Q13	My instructor encourages me to develop new viewpoints.	0	1 4.8%	1 4.8%	9 42.9%	10 47.6%	21	4.3	4.4	4	1K	4.4	4.6	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	9 42.9%	12 57.1%	21	4.6	4.6	5	1K	4.2	4.6	34

Course:	LAW - 7324 001 - BANKRUPTCY	Department:	LawSchool
Responsible Faculty:	Peter Alexander	Responses / Expected:	16 / 27 (59.26%)

					F	Peter Ale	exar	nder			Survey Comparisons					
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual		LawSchool					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	1 6.3%	15 93.8%	16	4.9	5.0	5	1K	4.2	4.5	81		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.4	4.6	91		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 6.3%	15 93.8%	16	4.9	5.0	5	1K	4.3	4.6	84		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 12.5%	14 87.5%	16	4.9	4.9	5	1K	4.2	4.6	77		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.3	4.6	91		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.1	4.5	91		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.5	4.7	87		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.5	4.7	90		
Q9	My instructor encourages me to do my best work.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.5	4.7	91		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 6.3%	15 93.8%	16	4.9	5.0	5	1K	4.2	4.6	80		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.5	4.7	87		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.4	4.7	89		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 6.3%	15 93.8%	16	4.9	5.0	5	1K	4.4	4.6	79		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	16 100%	16	5.0	5.0	5	1K	4.2	4.6	88		

Course:	LAW - 7324 501 - BANKRUPTCY	Department:	LawSchool
Responsible Faculty:	Peter Alexander	Responses / Expected:	11 / 21 (52.38%)

					Р	eter Ale	xan	der			Survey Comparisons					
Cou	se Evaluation Questions		Res	por	nses (9	%)		Indi	vidual			LawS	chool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.2	4.5	78		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.4	4.6	75		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.3	4.6	80		
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.2	4.6	82		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.3	4.6	81		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	0	1 9.1%	9 81.8%	11	4.5	4.9	5	1K	4.1	4.5	72		
Q7	My instructor establishes a climate of respect for students.	1 9.1%	0	0	1 9.1%	9 81.8%	11	4.5	4.9	5	1K	4.5	4.7	64		
Q8	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	0	1 9.1%	9 81.8%	11	4.5	4.9	5	1K	4.5	4.7	69		
Q9	My instructor encourages me to do my best work.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.5	4.7	80		
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.2	4.6	77		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.5	4.7	71		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.4	4.7	76		
Q13	My instructor encourages me to develop new viewpoints.	1 9.1%	0	0	0	10 90.9%	11	4.6	5.0	5	1K	4.4	4.6	77		
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	0	9 90%	10	4.6	4.9	5	1K	4.2	4.6	70		

Course:	LAW - 7325 501 - Wills, Trusts and Estates	Department:	LawSchool
Responsible Faculty:	Samuel Long	Responses / Expected:	21 / 43 (48.84%)

		Samuel Long										Survey Comparisons					
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual		LawSchool						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	1 4.8%	1 4.8%	0	10 47.6%	9 42.9%	21	4.2	4.4	4	1K	4.2	4.5	29			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5%	0	0	7 35%	12 60%	20	4.5	4.7	5	1K	4.4	4.6	39			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 4.8%	0	0	7 33.3%	13 61.9%	21	4.5	4.7	5	1K	4.3	4.6	50			
Q4	My instructor provides material that helps me do well on assignments.	1 4.8%	0	2 9.5%	7 33.3%	11 52.4%	21	4.3	4.5	5	1K	4.2	4.6	42			
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 4.8%	1 4.8%	0	7 33.3%	12 57.1%	21	4.3	4.6	5	1K	4.3	4.6	42			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	11 57.9%	8 42.1%	19	4.4	4.4	4	1K	4.1	4.5	27			
Q7	My instructor establishes a climate of respect for students.	1 4.8%	0	0	5 23.8%	15 71.4%	21	4.6	4.8	5	1K	4.5	4.7	40			
Q8	My instructor is available to me on matters pertaining to the course.	1 4.8%	0	2 9.5%	6 28.6%	12 57.1%	21	4.3	4.6	5	1K	4.5	4.7	31			
Q9	My instructor encourages me to do my best work.	1 4.8%	0	1 4.8%	9 42.9%	10 47.6%	21	4.3	4.4	4	1K	4.5	4.7	18			
Q10	My instructor provides timely feedback to guide my progress.	1 4.8%	0	0	10 47.6%	10 47.6%	21	4.3	4.5	4	1K	4.2	4.6	32			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5%	0	1 5%	5 25%	13 65%	20	4.5	4.7	5	1K	4.5	4.7	36			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.8%	0	0	6 28.6%	14 66.7%	21	4.5	4.8	5	1K	4.4	4.7	44			
Q13	My instructor encourages me to develop new viewpoints.	1 4.8%	0	0	7 33.3%	13 61.9%	21	4.5	4.7	5	1K	4.4	4.6	41			
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.8%	1 4.8%	1 4.8%	7 33.3%	11 52.4%	21	4.2	4.5	5	1K	4.2	4.6	29			

Course:	LAW - 7326 001 - Administrative Law	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	14 / 35 (40%)

		Thomas Perkins										Survey Comparisons					
Cou	se Evaluation Questions		ı	Respo	nses (%)		Indi	vidual		LawSchool						
					A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	4 28.6%	10 71.4%	14	4.7	4.8	5	1K	4.2	4.5	64			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.4	4.6	66			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	1K	4.3	4.6	58			
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8	4.9	5	1K	4.2	4.6	75			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.3	4.6	68			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	4.8	5	1K	4.1	4.5	62			
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.5	4.7	57			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.5	4.7	64			
Q9	My instructor encourages me to do my best work.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7	4.9	5	1K	4.5	4.7	64			
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7	4.9	5	1K	4.2	4.6	62			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.5	4.7	58			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.4	4.7	59			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 21.4%	11 78.6%	14	4.8	4.9	5	1K	4.4	4.6	64			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7	4.9	5	1K	4.2	4.6	64			

Course:	LAW - 7388 301 - Externship Seminar	Department:	LawSchool
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	4 / 11 (36.36%)

		Gretchen Hackard										Survey Comparisons					
Cou	se Evaluation Questions		Res	por	ıses (%)		Indi	ividual		LawSchool						
	SI					SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.2	4.5	40			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.4	4.6	28			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.3	4.6	34			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.2	4.6	36			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.3	4.6	35			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.1	4.5	37			
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.5	4.7	10			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.5	4.7	18			
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.5	4.7	24			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.2	4.6	36			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.5	4.7	17			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.4	4.7	25			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.4	4.6	29			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	1K	4.2	4.6	26			

Course:	LAW - 7414 501 - Constitutional Law I	Department:	LawSchool
Responsible Faculty:	Loren Jacobson	Responses / Expected:	35 / 38 (92.11%)

		Loren Jacobson										Survey Comparisons					
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual		LawSchool						
					A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	3 8.6%	32 91.4%	35	4.9	5.0	5	1K	4.2	4.5	78			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 2.9%	34 97.1%	35	5.0	5.0	5	1K	4.4	4.6	81			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 2.9%	34 97.1%	35	5.0	5.0	5	1K	4.3	4.6	86			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 5.7%	33 94.3%	35	4.9	5.0	5	1K	4.2	4.6	84			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 2.9%	3 8.6%	31 88.6%	35	4.9	4.9	5	1K	4.3	4.6	78			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 14.3%	30 85.7%	35	4.9	4.9	5	1K	4.1	4.5	78			
Q7	My instructor establishes a climate of respect for students.	1 2.9%	0	0	3 8.6%	31 88.6%	35	4.8	4.9	5	1K	4.5	4.7	70			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 8.6%	32 91.4%	35	4.9	5.0	5	1K	4.5	4.7	75			
Q9	My instructor encourages me to do my best work.	0	0	0	4 11.4%	31 88.6%	35	4.9	4.9	5	1K	4.5	4.7	75			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 5.7%	33 94.3%	35	4.9	5.0	5	1K	4.2	4.6	80			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 2.9%	0	2 5.7%	32 91.4%	35	4.9	5.0	5	1K	4.5	4.7	71			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 5.7%	1 2.9%	32 91.4%	35	4.9	5.0	5	1K	4.4	4.7	76			
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 2.9%	3 8.6%	31 88.6%	35	4.9	4.9	5	1K	4.4	4.6	73			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 5.7%	33 94.3%	35	4.9	5.0	5	1K	4.2	4.6	75			

Course:	ACCT - 2010 001 - Accounting Principles I (Financial Accounting)	Department:	BUSI
Responsible Faculty:	Alison Reiff-martin	Responses / Expected:	12 / 32 (37.50%)

Alison Reiff-martin										Survey Comparisons				
Cou	se Evaluation Questions		Res	ponses	(%)			Indiv	vidual		BUSI			
	SD D N A SA						N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	4 33.3%	0	2 16.7%	5 41.7%	1 8.3%	12	2.9	3.5	3.5	1.2K	4.3	4.6	1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 8.3%	3 25%	6 50%	2 16.7%	12	3.8	3.8	4	1.1K	4.4	4.7	2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 8.3%	1 8.3%	2 16.7%	5 41.7%	3 25%	12	3.7	3.9	4	1.1K	4.4	4.7	2
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	3 25%	1 8.3%	6 50%	1 8.3%	12	3.3	3.7	4	1.1K	4.4	4.6	2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	4 33.3%	6 50%	1 8.3%	12	3.5	3.7	4	1.1K	4.4	4.6	3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	2 16.7%	2 16.7%	5 41.7%	2 16.7%	12	3.4	3.7	4	1.1K	4.3	4.6	2
Q7	My instructor establishes a climate of respect for students.	0	1 8.3%	2 16.7%	6 50%	3 25%	12	3.9	4.0	4	1.1K	4.5	4.7	3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 16.7%	8 66.7%	2 16.7%	12	4.0	4.0	4	1.1K	4.5	4.7	3
Q9	My instructor encourages me to do my best work.	0	0	3 25%	6 50%	3 25%	12	4.0	4.0	4	1.2K	4.5	4.7	3
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 25%	6 50%	3 25%	12	4.0	4.0	4	1.1K	4.4	4.7	5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 8.3%	3 25%	5 41.7%	3 25%	12	3.8	3.9	4	1.1K	4.5	4.7	2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	6 50%	5 41.7%	1 8.3%	12	3.6	3.5	3.5	1.2K	4.5	4.7	1
Q13	My instructor encourages me to develop new viewpoints.	0	0	5 41.7%	6 50%	1 8.3%	12	3.7	3.7	4	1.2K	4.4	4.7	2
Q14	My instructor made the subject interesting and motivated me to learn.	3 25%	1 8.3%	2 16.7%	5 41.7%	1 8.3%	12	3.0	3.5	3.5	1.2K	4.3	4.7	2

				ACC	Survey Comparisons								
Labs and Online Learning Questions		Responses (%)					C	ourse		All			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	3 60%	0	1 20%	1 20%	5	3.0	2.3	2	2.4K	4.3	4.6	10
Q16 The course topics are organized in a coherent fashion.	0	1 20%	2 40%	1 20%	1 20%	5	3.4	3.3	3	3.3K	4.4	4.7	8

Course:	ACCT - 2020 001 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Ernest Robinson	Responses / Expected:	8 / 15 (53.33%)

					E	rnest Ro	bin	nson			St	ırvey Con	npariso	ns
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.2K	4.3	4.6	71
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.1K	4.4	4.7	84
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.1K	4.4	4.7	86
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.1K	4.4	4.6	87
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.1K	4.4	4.6	85
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.1K	4.3	4.6	87
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.1K	4.5	4.7	56
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.1K	4.5	4.7	64
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.2K	4.5	4.7	61
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.1K	4.4	4.7	66
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.1K	4.5	4.7	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.2K	4.5	4.7	82
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.2K	4.4	4.7	86
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.2K	4.3	4.7	85

						ACCT - 20	020	- 001				Survey Con	nparisons	
Lab	s and Online Learning Questions		R	esponse	s (%)		Co	ourse			Al	l	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	3.0	3	2.4K	4.3	4.6	12
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	3.3K	4.4	4.7	94

Course:	ACCT - 2020 002 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Rafiu Fashina	Responses / Expected:	14 / 27 (51.85%)

					Rafiu	Fashina	9				Su	rvey Con	npariso	ns
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 14.3%	1 7.1%	2 14.3%	4 28.6%	5 35.7%	14	3.6	4.0	4	1.2K	4.3	4.6	11
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 14.3%	2 14.3%	0	5 35.7%	5 35.7%	14	3.6	4.1	4	1.1K	4.4	4.7	8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 7.1%	0	2 14.3%	4 28.6%	7 50%	14	4.1	4.5	4.5	1.1K	4.4	4.7	31
Q4	My instructor provides material that helps me do well on assignments.	1 7.1%	2 14.3%	2 14.3%	3 21.4%	6 42.9%	14	3.8	4.2	4	1.1K	4.4	4.6	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.1%	0	3 21.4%	4 28.6%	6 42.9%	14	4.0	4.3	4	1.1K	4.4	4.6	21
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	4 30.8%	3 23.1%	5 38.5%	13	3.9	4.0	4	1.1K	4.3	4.6	12
Q7	My instructor establishes a climate of respect for students.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6	4.9	5	1.1K	4.5	4.7	64
Q8	My instructor is available to me on matters pertaining to the course.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	1.1K	4.5	4.7	44
Q9	My instructor encourages me to do my best work.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6	4.9	5	1.2K	4.5	4.7	69
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	1 7.1%	3 21.4%	2 14.3%	7 50%	14	3.9	4.5	4.5	1.1K	4.4	4.7	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	1.1K	4.5	4.7	39
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.1%	0	1 7.1%	4 28.6%	8 57.1%	14	4.3	4.6	5	1.2K	4.5	4.7	33
Q13	My instructor encourages me to develop new viewpoints.	1 7.1%	0	1 7.1%	5 35.7%	7 50%	14	4.2	4.5	4.5	1.2K	4.4	4.7	29
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	0	5 35.7%	2 14.3%	6 42.9%	14	3.9	4.0	4	1.2K	4.3	4.7	9

				AC	CT - 2020	- 00	02			;	Survey Con	nparisons	;
Labs and Online Learning Questions		Re	spoi	1ses (%)			Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	2.4K	4.3	4.6	48
Q16 The course topics are organized in a coherent fashion.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0	4.3	4	3.3K	4.4	4.7	30

Course:	ACCT - 2020 003 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Ernest Robinson	Responses / Expected:	8 / 35 (22.86%)

					Erne	st Robi	nsc	on			Su	rvey Con	npariso	ns
Cou	se Evaluation Questions			Respon	ses (%)			Indi	vidual			BUS	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	1.2K	4.3	4.6	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.1K	4.4	4.7	42
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.1K	4.4	4.7	47
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.1K	4.4	4.6	74
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	1.1K	4.4	4.6	49
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	1.1K	4.3	4.6	58
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.1K	4.5	4.7	35
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	1.1K	4.5	4.7	55
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	1.2K	4.5	4.7	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.1K	4.4	4.7	66
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.1K	4.5	4.7	36
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.2K	4.5	4.7	42
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	1.2K	4.4	4.7	49
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.2K	4.3	4.7	50

					ACCT - 20	20 -	003			;	Survey Con	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			Al		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	2.4K	4.3	4.6	67
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	3.3K	4.4	4.7	60

Course:	ACCT - 3110 001 - Intermediate Accounting I	Department:	BUSI
Responsible Faculty:	Pamela Thompson	Responses / Expected:	9 / 24 (37.50%)

		Pamela Thompson Responses (%)									Su	rvey Con	npariso	ns
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	vidua	l		BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 11.1%	2 22.2%	0	2 22.2%	4 44.4%	9	3.7	4.3	4	1.2K	4.3	4.6	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	3 33.3%	1 11.1%	1 11.1%	4 44.4%	9	3.7	4.0	4	1.1K	4.4	4.7	6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 11.1%	1 11.1%	3 33.3%	4 44.4%	9	4.1	4.3	4	1.1K	4.4	4.7	19
Q4	My instructor provides material that helps me do well on assignments.	0	2 22.2%	0	3 33.3%	4 44.4%	9	4.0	4.3	4	1.1K	4.4	4.6	24
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 11.1%	2 22.2%	1 11.1%	0	5 55.6%	9	3.7	4.6	5	1.1K	4.4	4.6	44
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 22.2%	2 22.2%	1 11.1%	4 44.4%	9	3.8	4.0	4	1.1K	4.3	4.6	12
Q7	My instructor establishes a climate of respect for students.	0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4	4.8	5	1.1K	4.5	4.7	42
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	1.1K	4.5	4.7	48
Q9	My instructor encourages me to do my best work.	0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3	4.6	5	1.2K	4.5	4.7	29
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 33.3%	3 33.3%	3 33.3%	9	4.0	4.0	4	1.1K	4.4	4.7	5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	4.8	5	1.1K	4.5	4.7	45
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4	4.8	5	1.2K	4.5	4.7	50
Q13	My instructor encourages me to develop new viewpoints.	0	1 11.1%	2 22.2%	1 11.1%	5 55.6%	9	4.1	4.6	5	1.2K	4.4	4.7	36
Q14	My instructor made the subject interesting and motivated me to learn.	1 11.1%	1 11.1%	1 11.1%	1 11.1%	5 55.6%	9	3.9	4.6	5	1.2K	4.3	4.7	38

					AC	CCT - 3	110	- 001				Survey Con	parisons	
Lab	and Online Learning Questions		R	espons	ses (%)			Co	ourse			Al		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	2.4K	4.3	4.6	74
Q16	The course topics are organized in a coherent fashion.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	3.3K	4.4	4.7	78

Course:	ACCT - 3120 001 - Intermediate Accounting II	Department:	BUSI
Responsible Faculty:	Pamela Thompson	Responses / Expected:	19 / 35 (54.29%)

				P	amela '	Thomp	son				Su	rvey Con	npariso	ns
Cou	se Evaluation Questions		Res	ponses	s (%)			Indiv	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 10.5%	3 15.8%	2 10.5%	3 15.8%	9 47.4%	19	3.7	4.3	4	1.2K	4.3	4.6	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 10.5%	2 10.5%	0	6 31.6%	9 47.4%	19	3.9	4.4	4	1.1K	4.4	4.7	27
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 11.1%	1 5.6%	1 5.6%	6 33.3%	8 44.4%	18	3.9	4.3	4	1.1K	4.4	4.7	19
Q4	My instructor provides material that helps me do well on assignments.	2 10.5%	2 10.5%	1 5.3%	5 26.3%	9 47.4%	19	3.9	4.4	4	1.1K	4.4	4.6	29
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.3%	0	5 26.3%	3 15.8%	10 52.6%	19	4.1	4.6	5	1.1K	4.4	4.6	40
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 15.8%	2 10.5%	2 10.5%	4 21.1%	8 42.1%	19	3.6	4.1	4	1.1K	4.3	4.6	18
Q7	My instructor establishes a climate of respect for students.	1 5.3%	1 5.3%	2 10.5%	6 31.6%	9 47.4%	19	4.1	4.4	4	1.1K	4.5	4.7	16
Q8	My instructor is available to me on matters pertaining to the course.	1 5.3%	1 5.3%	1 5.3%	7 36.8%	9 47.4%	19	4.2	4.4	4	1.1K	4.5	4.7	19
Q9	My instructor encourages me to do my best work.	2 10.5%	1 5.3%	2 10.5%	5 26.3%	9 47.4%	19	3.9	4.4	4	1.2K	4.5	4.7	18
Q10	My instructor provides timely feedback to guide my progress.	2 10.5%	1 5.3%	2 10.5%	5 26.3%	9 47.4%	19	3.9	4.4	4	1.1K	4.4	4.7	18
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 10.5%	0	2 10.5%	5 26.3%	10 52.6%	19	4.1	4.6	5	1.1K	4.5	4.7	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 10.5%	2 10.5%	2 10.5%	4 21.1%	9 47.4%	19	3.8	4.4	4	1.2K	4.5	4.7	20
Q13	My instructor encourages me to develop new viewpoints.	2 10.5%	0	5 26.3%	4 21.1%	8 42.1%	19	3.8	4.1	4	1.2K	4.4	4.7	12
Q14	My instructor made the subject interesting and motivated me to learn.	2 10.5%	3 15.8%	2 10.5%	4 21.1%	8 42.1%	19	3.7	4.1	4	1.2K	4.3	4.7	14

					ACCT	- 3120 -	001				\$	Survey Con	parisons	ş
Lab	s and Online Learning Questions		Respo	ons	es (%)			Course				All	l	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 11.1%	0	0	4 44.4%	4 44.4%	9	4.1	4.4	4	2.4K	4.3	4.6	38
Q16	The course topics are organized in a coherent fashion.	1 8.3%	2 16.7%	0	3 25%	6 50%	12	3.9	4.5	4.5	3.3K	4.4	4.7	38

Course:	ACCT - 3120 002 - Intermediate Accounting II	Department:	BUSI
Responsible Faculty:	Pamela Thompson	Responses / Expected:	8 / 20 (40%)

				P	amela 1	Thomps	on				Su	rvey Con	npariso	ns
Cou	se Evaluation Questions		Res	ponses	(%)			Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.2K	4.3	4.6	71
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	1.1K	4.4	4.7	60
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.1K	4.4	4.7	47
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	1.1K	4.4	4.6	54
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 12.5%	0	1 12.5%	6 75%	8	4.5	4.8	5	1.1K	4.4	4.6	69
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	1 12.5%	0	6 75%	8	4.3	4.8	5	1.1K	4.3	4.6	76
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	1.1K	4.5	4.7	56
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	1.1K	4.5	4.7	64
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.2K	4.5	4.7	61
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	1 12.5%	6 75%	8	4.5	4.8	5	1.1K	4.4	4.7	66
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	1.1K	4.5	4.7	64
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.2K	4.5	4.7	42
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	1.2K	4.4	4.7	49
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	1.2K	4.3	4.7	50

					-	ACCT - 31:	20 -	002			,	Survey Con	parisons	
La	bs and Online Learning Questions			Res	ponses (%	.)		Co	ourse			Al		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	2.4K	4.3	4.6	60
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	3.3K	4.4	4.7	60

Course:	ACCT - 3270 001 - Cost Accounting	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	12 / 29 (41.38%)

					P	atricia V	Vyni	n			Su	rvey Con	npariso	ns
Cou	se Evaluation Questions			Respo	nses (%)		Indi	vidual			BU	SI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6	4.8	5	1.2K	4.3	4.6	58
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	1.1K	4.4	4.7	79
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1.1K	4.4	4.7	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1.1K	4.4	4.6	74
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	4.9	5	1.1K	4.4	4.6	80
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	1.1K	4.3	4.6	76
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	1.1K	4.5	4.7	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5	4.6	5	1.1K	4.5	4.7	35
Q9	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1.2K	4.5	4.7	61
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	1.1K	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	1.1K	4.5	4.7	60
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1.2K	4.5	4.7	66
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	1.2K	4.4	4.7	65
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	1.2K	4.3	4.7	66

						ACCT - 3270 - 001				;	Survey Con	parisons		
La	s and Online Learning Questions			Res	ponses (%	5)		Co	urse			Al		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 30%	7 70%	10	4.7	4.8	5	2.4K	4.3	4.6	70
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	3.3K	4.4	4.7	68

Course:	ACCT - 4100 001 - Accounting Systems	Department:	BUSI
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	13 / 25 (52%)

					Step	hanie M	ong	iello			Su	ırvey Con	npariso	ns
Cou	se Evaluation Questions		ı	Respo	nses (%)		Indiv	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.2K	4.3	4.6	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	1.1K	4.4	4.7	80
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	1.1K	4.4	4.7	80
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1.1K	4.4	4.6	74
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.7%	1 7.7%	11 84.6%	13	4.8	4.9	5	1.1K	4.4	4.6	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6	4.8	5	1.1K	4.3	4.6	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.1K	4.5	4.7	60
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.1K	4.5	4.7	68
Q9	My instructor encourages me to do my best work.	0	0	0	4 30.8%	9 69.2%	13	4.7	4.8	5	1.2K	4.5	4.7	52
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6	4.8	5	1.1K	4.4	4.7	60
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.1K	4.5	4.7	68
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6	4.8	5	1.2K	4.5	4.7	54
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	1.2K	4.4	4.7	65
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7	4.9	5	1.2K	4.3	4.7	70

						ACCT - 41	00 -	001				Survey Con	parisons	
Labs	and Online Learning Questions			Res	ponses (%	.)		C	ourse			Al	ı	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	2.4K	4.3	4.6	60
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	3.3K	4.4	4.7	55

Course:	ACCT - 4140 001 - Advanced Accounting Principles	Department:	BUSI
Responsible Faculty:	Cathy Scott	Responses / Expected:	9 / 16 (56.25%)

						Cathy S	Sco	tt			Sı	ırvey Con	npariso	ns
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			BU	SI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.2K	4.3	4.6	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0	5.0	5	1.1K	4.4	4.7	94
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	9 100%	9	5.0	5.0	5	1.1K	4.4	4.7	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.1K	4.4	4.6	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	9 100%	9	5.0	5.0	5	1.1K	4.4	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	1.1K	4.3	4.6	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	5.0	5	1.1K	4.5	4.7	94
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0	5.0	5	1.1K	4.5	4.7	94
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.2K	4.5	4.7	84
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	1.1K	4.4	4.7	55
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.1K	4.5	4.7	84
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.2K	4.5	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.2K	4.4	4.7	73
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.2K	4.3	4.7	74

					AC	CT - 41	40 -	- 001				Survey Con	nparisons	
Lab	s and Online Learning Questions		Res	pons	es (%)			C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	2.4K	4.3	4.6	74
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	3.3K	4.4	4.7	72

Course:	ACCT - 4270 001 - Advanced Cost Accounting	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	17 / 27 (62.96%)

					Patr	icia Wy	nn				Su	rvey Con	npariso	ns
Cou	se Evaluation Questions		R	espons	es (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	2 11.8%	0	0	6 35.3%	9 52.9%	17	4.2	4.6	5	1.2K	4.3	4.6	41
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.9%	0	0	4 23.5%	12 70.6%	17	4.5	4.8	5	1.1K	4.4	4.7	51
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	0	2 12.5%	4 25%	9 56.3%	16	4.3	4.6	5	1.1K	4.4	4.7	38
Q4	My instructor provides material that helps me do well on assignments.	1 5.9%	0	1 5.9%	7 41.2%	8 47.1%	17	4.2	4.4	4	1.1K	4.4	4.6	31
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.9%	0	1 5.9%	5 29.4%	10 58.8%	17	4.4	4.7	5	1.1K	4.4	4.6	52
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.9%	0	4 23.5%	3 17.6%	9 52.9%	17	4.1	4.6	5	1.1K	4.3	4.6	40
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 23.5%	13 76.5%	17	4.8	4.8	5	1.1K	4.5	4.7	60
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 29.4%	12 70.6%	17	4.7	4.8	5	1.1K	4.5	4.7	52
Q9	My instructor encourages me to do my best work.	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6	4.8	5	1.2K	4.5	4.7	54
Q10	My instructor provides timely feedback to guide my progress.	0	0	4 23.5%	3 17.6%	10 58.8%	17	4.4	4.7	5	1.1K	4.4	4.7	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 29.4%	12 70.6%	17	4.7	4.8	5	1.1K	4.5	4.7	53
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 11.8%	6 35.3%	9 52.9%	17	4.4	4.6	5	1.2K	4.5	4.7	29
Q13	My instructor encourages me to develop new viewpoints.	0	0	5 29.4%	4 23.5%	8 47.1%	17	4.2	4.4	4	1.2K	4.4	4.7	20
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	5 29.4%	4 23.5%	8 47.1%	17	4.2	4.4	4	1.2K	4.3	4.7	22

					AC	CT - 4270	- 00)1			;	Survey Con	parisons		
Lab	s and Online Learning Questions		Re	espons	es (%)			Co	Course			Al	.l		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 20%	0	1 20%	3 60%	0	5	3.2	3.7	4	2.4K	4.3	4.6	16	
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	0	6 75%	1 12.5%	8	3.8	4.0	4	3.3K	4.4	4.7	16	

Course:	ACCT - 4300 001 - Federal Income Taxation	Department:	BUSI
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	13 / 30 (43.33%)

					Ste	phanie I	Mor	ngiello			Sı	ırvey Con	npariso	ns
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.2K	4.3	4.6	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 7.7%	12 92.3%	13	4.9	5.0	5	1.1K	4.4	4.7	87
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 7.7%	12 92.3%	13	4.9	5.0	5	1.1K	4.4	4.7	88
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 7.7%	12 92.3%	13	4.9	5.0	5	1.1K	4.4	4.6	89
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 7.7%	12 92.3%	13	4.9	5.0	5	1.1K	4.4	4.6	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	1.1K	4.3	4.6	84
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	1.1K	4.5	4.7	73
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 15.4%	11 84.6%	13	4.8	4.9	5	1.1K	4.5	4.7	79
Q9	My instructor encourages me to do my best work.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.2K	4.5	4.7	65
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.1K	4.4	4.7	70
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	1.1K	4.5	4.7	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.2K	4.5	4.7	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 30.8%	9 69.2%	13	4.7	4.8	5	1.2K	4.4	4.7	57
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 23.1%	10 76.9%	13	4.8	4.9	5	1.2K	4.3	4.7	70

						ACCT - 43	00 -	001				Survey Con	parisons	
Labs	and Online Learning Questions			Res	ponses (%	.)		C	ourse			Al	ı	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	2.4K	4.3	4.6	67
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	3.3K	4.4	4.7	72

Course:	ACCT - 4350 001 - Advanced Federal Income Taxation	Department:	BUSI
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	10 / 20 (50%)

					Step	hanie M	long	jiello			Sı	ırvey Con	npariso	ns
Cou	se Evaluation Questions		-	Respo	nses (%	·)		Indiv	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	1.2K	4.3	4.6	79
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.4	4.7	67
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	1.1K	4.4	4.7	77
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 10%	2 20%	7 70%	10	4.6	4.8	5	1.1K	4.4	4.6	64
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.1K	4.4	4.6	78
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.1K	4.3	4.6	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.5	4.7	64
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	1.1K	4.5	4.7	73
Q9	My instructor encourages me to do my best work.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.2K	4.5	4.7	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.1K	4.4	4.7	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	1.1K	4.5	4.7	74
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.2K	4.5	4.7	74
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.2K	4.4	4.7	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	1.2K	4.3	4.7	76

						ACCT - 4	4350	io - 001			Survey Con	nparisons		
Lab	s and Online Learning Questions		Re	spoi	nses (%)		Co	ourse			Al	1	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	2.4K	4.3	4.6	48
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	3.3K	4.4	4.7	50

Course:	ACCT - 4410 001 - Auditing Evidence	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	9 / 13 (69.23%)

					Pa	tricia W	ynr	1			Su	rvey Con	npariso	ns
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.2K	4.3	4.6	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.1K	4.4	4.7	85
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.1K	4.4	4.7	87
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.4	4.6	79
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	1.1K	4.4	4.6	86
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.3	4.6	81
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.5	4.7	64
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.5	4.7	70
Q9	My instructor encourages me to do my best work.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	1.2K	4.5	4.7	48
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.4	4.7	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	1.1K	4.5	4.7	70
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7	4.8	5	1.2K	4.5	4.7	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	1.2K	4.4	4.7	54
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	1.2K	4.3	4.7	56

					-	ACCT - 4	1410	0 - 001				Survey Con	nparisons	
Lab	s and Online Learning Questions		Re	spor	ıses (%)		Co	ourse			Al		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	2.4K	4.3	4.6	74
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	3.3K	4.4	4.7	78

Course:	ACCT - 4800 001 - Internship	Department:	BUSI
Responsible Faculty:	Cathy Scott	Responses / Expected:	1 / 2 (50%)

						Catl	hy S	Scott			S	urvey Cor	nparisor	ıs
Cou	se Evaluation Questions	R	esp	on	ses	(%)		Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.3	4.6	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.6	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.3	4.6	95
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.5	4.7	94
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.5	4.7	94
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.4	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.3	4.7	94

		ACCT - 4800 - 001 Survey Comparis													
Lab	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al]		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	2.4K	4.3	4.6	92	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	3.3K	4.4	4.7	94	

Course:	ACCT - 4900 010 - Special Problems	Department:	BUSI
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	1 / 1 (100%)

					5	Stephan	ie I	Mongiell	o		S	urvey Cor	nparisor	1s
Cou	rse Evaluation Questions	R	esp	oon	ses	s (%)		Ind	ividua	l		BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.3	4.6	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.6	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.3	4.6	95
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.5	4.7	94
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.5	4.7	94
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.4	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.3	4.7	94

Labs and Online Learning Questions					ACCT -	490	00 - 010			Survey Comparisons					
		Responses (%)					Co	ourse			Al	l			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	2.4K	4.3	4.6	92		
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	3.3K	4.4	4.7	94		

Course:	ACCT - 4900 011 - Special Problems	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	1 / 1 (100%)

						Patri	cia	Wynn			s	urvey Cor	nparisor	ıs
Cou	se Evaluation Questions	R	esp	on	ses	s (%)		Indi	ividual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.3	4.6	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.6	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.3	4.6	95
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.5	4.7	94
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.4	4.7	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	1.1K	4.5	4.7	94
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.5	4.7	94
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.4	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	1.2K	4.3	4.7	94

		ACCT - 4900 - 011 Survey Compari												
Lab	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al		
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	2.4K	4.3	4.6	92
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	3.3K	4.4	4.7	94